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Plant Needf -
| e plnnts Humans and Animals
POC _—_ ter and air.
gilorites  *+ Alliving orgomSTE niegg e —
They are different in: ‘
Differences , guycture Some needs: The wWay of getting food and gases
e st - Air . Water
- Needs * AIr L
?;s:u :ﬂ ve) -« Sunlight * Nutrients + Food Shelter
Plants can make their They must move to get food
way of Getting own food (glucose) inside because they can’t make
Energy  theirleaves through the their own foad.

photosynthesis process.

Air enters the human body
through the mauth and ncse,
then travels to the lungs.

way of Getting Gases enter plants through
Gases the stomata In the leaves.

“Some Concepts about Plant Needs:

s

;{PAplunthusbaenpiumd GApiunthusheenplucedlnuz

5] in the sunlight. -+ dark room. -
* It grows strong and healthy. * It growsweak andunhealthy. - |
* It grows with atall stem. * It grows with ashort stem. '

* thasmore dark green leaves. |« It hasless pale green leaves |

Snil
Soilisn't included as a bg

plants may grow in water, or on another plant,

sic need for plants because some

TH
€ initial growth of the seeds in the wet paper towel and

E
A plant can grow on & wet pPaper towel.

S0l Is similar,

* The seeds
planted in w
those planted in sg et paper towels grow slower than

I}
';'Jd"ﬂpﬂnic sustem:
IS @ suystem full '
of wat
L__ and elements for plg ﬂtsetrgt;f:éiﬂﬁtmms important minerals
= SR




| Plant Structure

« All structures inside the plant help i survive and grow,

= A green plant cansists of rools
_~{ Frult )

Root hairs
(extend from
the roots)

Xylems

F'h!nems

Chlorophylls
(inside the leaf)

Stomata
(inside the leaf)

stermn, leaves, and sometimes fruits and flowers

(Flower) * Helps the plant reproduce by producing seeds.

- Making the plant’s food (glucose) through
photosunthesis.

. Supports the plant parts.
~4 5__'“5‘“_"] .Carrles water and nutrients from the roots to
the leaves through the xulem.

_ t_] « Absorb water and nutrients from the soil.
ﬂ -
i «Fix the plant In the sall.

Other small structures inside the plant:

- They increase the amourit of water

" and nutrienits cbsorbed from the soil,

- They are smaller vessels that transfer
;.w'c:ter and nutrients fram the roots to

the leaves.

»They transfer food from the plant's
leaves to other plant parts.

«They capture the light energy from

the Sun.
- They are respansible for the green

color of the leaves.

«They are pores on the plant leaf that
allow air to move in or out.

Scignes Prim, 5 = First Term ﬁ@—



[ —aii nal Revision

/

@ wood
Stem

6 Runners
Stem

sk

) Tubers
Stem

Tree trunks | Most flowers

Extend above and

along the groung

and help to form
new plants.

(Extend
underground)
Potato plants

Types of Leuves_T

! Narrow Leaves
(Look like needles) (as pine trees)

@ Flat and Wide Leaves

* Flowers gre reproductive parts of g

Feproduce by pradyc), ItJ seed:

=

-F
lowers on plants have different shape

* Some plants have Very small flowers that
" Sunflowers

= SIZeS, and colors,

plant as they help the plant to b i




ways of Seeq_n_ispersuﬂ

Seed dispersal * It is the transferring of seeds from one place to another.

« The way of seed dispersal depends on the shape and size of the seeds.

0 Floating on water surface ) Traveling by wind (light and feathery)

= o
Coconut Seeds Maple Seeds Dandelion Seeds
£) sticking on animals' | () Eaten by animals and come
fur or on human clothing out with their stool

ﬁg _

Plum Seeds (rough seeds, have spine) | Tomato Seeds Apple Seeds

Photosynthesis | q

——— — fofy-
It is the process in which the plant uses the light of the g Ffj g ( Sunlight |
sun to make its own food inside the plant leaves.

. Carbon

(Woter) A | e

1 Plants rocts absorb water and nutrients from the soll.
2 The xylem transports water and nutrients from the roots to the leaves.
| The chlorophull captures the light energy from the Sun.
The stomata allow air to enter the plant's leaf.
In the presence of sunlight, water combines with carbon dioxide gas to
make sugar called glucose,
[8] The phloerm moves the glucase from the leaves to other parts of the plant.
(7] The plant releases oxygen and water in the air.

- Light energy absorbed from sunlight is converted into chemical energy.

Science Prim. 5 = First Term @—'
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'l cts of POt
i Producs e A BRI
: rce of energy P '
. JiGlucose @5 ¢ sou into the air. b i
L as and water ; Ar1s N animalk
5 plants release 0xygen @ f the busic needs 10! T )
E'L"-x..\l +is considered On€ © 0
& o> |3 Oxygen
' water " oo 'QOs &
Carbon and  Photosynthess  glycose B8 \yniar
Light % dioxide & minerol vapor
energy gos salts
. Systems
Comparing Plants and Humans SYSter
_ ts Transport System
POC Human Circulatory System Plan
water I
g Food
Drawing and . i |
minerals H .
Arteries
It consists of the heartand blood | + Xylem:
vessels (arteries veinsand blood | Transports water and
capillaries) nutrients from the roots
« Arteries to the plant’s IEnves.
They carry blood rich with oxygen | = Phloem:
and glucose from the heart to the | A setof tubes that
Shviot organs, muscles, bones, and cells | transports the food
50 that the body can grow and materials from the
heal. leaves to other parts of
* Veins: the plant.
They return the blood that carries
carbon dioxide and is low in
nutrients and exygen to the heart
for a recharge.
1 They are similar in function, which is trans
. porting nutrients
Similarities and gases to all parts of the ||'.,.rfng organism.,

[2Both have one-way vessels.

”“—"—'@ Science Prim. 5 - First Torm



Summary ©

1 concept 2

Energy Flow in Ecosystems

: ins living organisms th
Ec : Its a r::::rnfnunltg ?ﬁul contains living org 5 thot
interact with nonliving things.

[ Ecosystem Components

Living Organisms Biotic Factor  -Humans -Animals  -Plants

Nonliving Things Abiotic Factor  *Air = Sol “Water

Forest

«Ecosystems provide living organisms with foodand shelterto survive.,
«Energy moves between animals when they feed on each other.
When living organisms die, thelr bodies decompose.

« Animals don't choose their food, but they eat what their bodies need,

Rabbits eat
grass.

Caracals eat
mice.

Birds eat butterflies
and worms.

*Hawks are meat-eating animals

«Howks eat snakes mice fish birds squirrels rabbits
and other small ground animals

- Hawks don't eat plants, but they eat animals that eat
plants. So, they olso depend on plants.

«Hawks are attacked by a few predators, such as eaglesand other howks

-When hawks die, decomposersreturn their energy to the soil,

Scisnce Prim, 5 - First Term E}_



o Final revision ,”/’__]
" rin Ecosystems
_ il it

“Energy Transfer in £

ergy for all living organisms.

fen
. The Sun is the primary (maln) SOUIce 0

y producers: (The first fink i o8 i

make their own food in the presence of

« They are living organisims that can

sunlight,

. Example:

. Green plants = Algae

- They are living organisms that fee
© Primary consumers {The second link ina

are living organisms that eat producers, such as ins

d on other organisms to get energy.
food chamn)

They ects.
@ Secondory consumers:

They ore living organisms that eat primar
© Tertiory consurners: (The third link in @ food chain)

They are living organisms that eat secondary CONSUMETs, such as alligators.

U CONSUMErs, such as birds.

Decomposers; (The final link in any food chain)

- They are living organisms that carry out the decomposition process by
decoying dead organisms.

» Importonce
© Recycling nutrients back into the ecosystem.
 Increasing the sail's fertility.

Green plant
piants are producers, while animals and humans are
consumers.

10,0 Science Prm, 5 - First Tarm



Itis o model that shows a inear set of feeding relotionships
and the movemeani of energy amaondg living Organisims

Food chain «

Example of a foed chain:

Main Primary Secondary Tertiary
source Pagues! Consumer Consumer Consumer

The energy from the Sun passes to the grass, then to the . then to the
snake, then to the eogle,

== e -ri'

: |

It's the animal it's the animal

that eots that is eaten

(hunts) other (hunted) by

animals. another animal,

It is o model that shows many different feeding relotionships

Food web « =
gmong living nrganisms.

@ \ &

A food web is made up
of several interconnected
food chains,

- The food web is better than
the food chain in showing ‘ J Aabbi ) tﬂ N']
the interaction among f

| organisms. ‘\\‘1 w] -~

Seience Prim, 5 - Find Tecia E



d Ftnﬂl Em’iﬂuﬂ
i B0 [

«Gheisa b

anii- Com M
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( Seed dispersal

0 Sticky Seeds

Their seeds caon stick to

Hmfm

|
f
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]
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@ Light (Flying) Seeds

They are dispersed 3
by the wind. B
How? L ?

. The seeds are released from the
plant when the plant is ready.

» The seeds fly oway to new habitats
to grow in other places.

The ¢
« SOor
ear

= Mo
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Ift
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Final Revision |
gL 1 Concert | petiion
- se the energy of
photosynthesis it is the process through which plonts U
process the Sun 10 make thelr owr fnl:}_d;___
;I;eg_ :-:Jr_E_;:_};ers on the plﬁnt'g leaves that allow gases 10
B move in and out of thé plant.
W i I
is pmduaed during the photasynthemg

It's the sugar that _
5 : for the plant 10 survive

process and it provides energy

Glucose
and gQrow.

rocess of making new plants.

e . Itis the p

reproduction
it is the system that transports blood and other fluids

Cin:ulu‘lﬁry
system throughout the bodu.
They're blood vessels which carry blood that is rich in
Arteries oxygen and nutrients (glucose) from the heart to the
body cells, 50 that the body can grow.
They're blood vessels that carry the blood containing
Veins carbon dioxide gas and that is low in nutrients and
oxygen from all body parts back into the heart.
e They're tubes thot carry water and nutrients from the
roots to the leaves.
Shloems They're tubes that carry sugar from the leaves to all
plant parts.
“lowers They are the reproductive parts of the plant.

& . :
seed dispersal  It's the transfer of seeds from a place to anather.



I!M1  Concept 2

It's a community that contains living organisms and

osystem
R nonliving things that interact with each other.
Producers They are organisms that can make their own food.

They are organisms that eat other living organisms to get

nsumers _

e their energy because they cannol make their own food.
ima
: ¢ They are animals that eat producers. .
CcONSUMEers |
secondary
5 They are anim hat eat primary CoONSUMErs.
consumers 4 als tha P Y
e Th imals th ddry consumers
; ey are an t eat secon -

consumers 4 mais that e L

: They are organis ry out the process of
Decomposers y _g ms that carry p
decomposition by decauing dead organisms.

They are animals hunted (eaten) by other animals.

Prey
Predators They are animals that hunt (eat) other animals.
It is a model that shows one linear set of feeding
Food chain relationships and the movement of energy between living
organisms.
It is a model that shows many different feeding relationships
Food web ] ) e 9 P
among living organisms,

Sciance Frim. 5 = Firsit Term - /29



iaive Reasons For... - —

m1 Concept 1 Give ReasonH

(3 L Plants’ roots have great functions,

« Plant’s roots absorb water and nutrients from the soll.
» Plant’s roots fix the plant in the snil

Ed:2 Sunlight is considered a basic plant need,

» Because“the plant uses the light energy of the Sun to maoke its own food
through photosunthesis process.

3 Plants are important for human life.
« Because green plants produce oxygen gas during photosynthesis process,
4 Living organisms are different in the way of getting food,
« Because plants can make their own food in their leaves through
photosynthesis, while animals and humans must eat food to gce_t energy.
('8 Soil isn't considered a basic need for plants.
- ¢ Because some plants don't need soil to grow and they may grow in water,
or on ancther plant,

6 Roots' hairs help the plant to survive and grow.
« Because roots' hairs increase the amount of absorbed water and nutrients
from the soil.

7' The stem has great functions for plants.
« [t transports water and nutrients to the leaves through the xylem.
« [t supports the plant parts.
L 8 Leaves are very important for the plant to survive.
« Becouse the leaves are responsible for making the plant's food through
photosynthesis process.
9 Stomata have a great importance for the plant.
« Because stomata allow air to go In or cut the plant’s leaf,
10 Chiorophull has a great function for the plant.
» Because chlorophyll captures (absorbs) the light energy from the Sun.
m"l‘-‘ ?-';;Ql_eh"l_ is very important fe, plants.
« Becouse xylem transfers water and nutrients from the roots to the leaves.
a2 Phtuém'_ is very important for plants.
. Because phloem transfers glucose from the leaves to other plant parts.

Scignce Prim. 5 - First Term -@ =



il R&U’fﬁiﬂn ol ns.
A Final ant for all livind organis

i impo
| @ F'}-.al-::sgmhesis process i very imp

| glucose),

Faor plunts.' ke their owTrl fﬂﬂd E

. Photosynthesis P
animals ond humans as that s considered @

« Photosynthesis process produces oxygen d ot for umans.
14 +uman circulatory system IS Vet i nd nutrients t
. Because it transports the blood rich I gases d

body.
(015 Arteries play an
. Becouse arteries carry t
from the heart to all body pais.

t role in the human body. |
., Veins return the blood that carries c_qgll?p[]!giﬁﬁi[de gas an
and oxugen from the body cells to the heart,
(017 clowers have a great function for a plant. .
. Flowers help the plant to reproduce a5 they produce seeds.
18 seeds disperse in different ways.
. Because the way of seed dispersal
(1% 1ioole seeds can disperse by wind.
. Because they are light seeds.
20 Animals may disperse plum seeds
. Because plum seeds are rough and have spines so

@A 1 Concept 2

1 Food is very important for humans and animals.
« To get energy to live, grow and carry out vital processes.
02 Most insects are considered primary CONSUMers.
» Because they feed on producers.
@ The ecosystem Is very important for the survival of living organisms.
- Because an ecosystern pravides living organisms with food and shelter.
4 A hawk is o meat-eating animal.
» Becouse o hawk eats snakes, fish, rabbits ond mice.
iEEI 5 Hawks depend on plants to get energy.
] « Because hawks eat animals that eat plants.

= :{E‘r: Selance Prim, 5 - First Term

3
¥

rocess helps the plants t0 ma

For basic need for them,

hroughout the

important role in the human body.

ha blood rich in OXYger and nutrients (glucose)

SE e ai j Qrid . =
6 veins play an import d is low In nutrients

depends on the shape and size of the seed,

they stick to the animals’ fur.



Give Reasons For... o

08 The 5un is considered the main source of energy.
« Because the energy of the Sun transfers to all living organisms on Earth,
) 7 Green plants are considered producers.

« Because green plants can make thelr own food through photosunthesis.
g8 Animals and humans are considered consumers,
» Because they cannot make their own food, but they depend on other living
organisms to get their energy.
{39 Decomposers play important roles in the ecosystem.
« They recycle nutrients back into the ecosystem.
«They increase the soll fertility,
10 A food chain describes the food relationships among organisms.
« Because food chains show the transfer of energy in the ecosystem when
living organisms feed on one another

Science Prim, 5 - First Term @ —



1 What

| t
m 1 ConcePt T Lappens if

k place? -
dﬂ'r tzgunthesjs process and it will di I
1I:}t-:rz:l in o wet paper rowel and others are placeq;

. & Final Revision

t s placed in @

« The plant con't make P

C
2 Some bean geeds Ore plo I
e d in the soll Qrows fester than that placed in the wet pape
in the ol ¢
- The plant place i
towel. L

i Plants have no roots? b water and nutrients from the soil, 50 they will dj

« The plants will not absa

eaves?
ey J't be able tomidke their.own food, so they will die.

bsent?
the light energy from the Sun,

ass of colored water?

he color of the water in the cup.
water in the cup.

+ The plants won

(13's The chlorophyll Is @
« The plant cant absorb

s A celery stalk is placed in @ al
« The xylem color changes fot
« The color of the leaves changes to the color of the

7 Xylern is removed from the plant structure?
« Water and nutrients won't be Tra neferred to the leaves,

‘§ The human body doesn't contain arteries?
- Oxygen and nutrients won't be able to reach the cells and organs.

§ A plant doesn't have stomata on its leaves?
« Gases cannot move In and out of the plant

16 There is no heart or blood vessels in the human body?
» Blood cannot move through the human body.

BT 1 Concept2

‘1 All primary consumers disappear from a food chain?
* The secondary consumers will move to another ecosystem to search fo

food or they will die.
‘2. Any organism in an ecosystem disappears?
* The food web will be affected.
3 Any living organism dies?
* Its body decomposes and the energy is recycled to the ecosystem.

b --—-@: Science Prim. 5 - First Term



What Happens IF..2 ¢ —

4 The number of predators incregses in an ecosystem?

« The number of other Consumers will decrease. l

§ Decomposers disoppear from an ecosystern?

» Energy cant be recycled to the ecosystern and the Earth will be full of dead
bodies.

5 The Sun is absent?

» Plants cannot make their food, so they will die.

Science Prim. 5 - First Term @—-



Concept 1 Revision

I The human circulatory system consists of
b. veins

a. the heart
d. heart and blood vessels

C. arteries
which of the following gases comes from the atmosphere and is

absorbed by the leaves to make the plants’ food?

a. Carbon dioxide b. Glucose c. Oxugen d. Hydrogen

3 Stomata are pores on the surface of a plant’s . that allow qir to

pass through.
Q. roots b. legves C. stem

__ carry the blood rich in oxygen and nutrients from the heart to

d. flower

4 _
all body parts.
a. Veins b. Stems c. Xylems d. Arteries
. carry the blood Tich in earbon dioxide gos back to the heart.
a.Arteries - b.Veins  €lungs d. Xylems

6 Leaves contain that captures the light energy and gives the

leaves their green color.

a. g stoma b. chlorophuyll €. glucose d. oxygen
7 The photosynthesis process takes place inside the
d. roots . stems C. leaves d. flowers
& Plants use energy fromthe _____ to produce their food from water
and carbon dioxide gas..
a. batteries b. fire c. sunlight d. wind
¢ Plants produce - ds a source of energuy to live and grow.
a. flowers b. carbon dioxide gas
€. seeds d. glucose (sugar)

Sﬁuhs-ﬁlh@n—
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o quml Revision

ients
n gases and nutr

ich i
stem Moves the hiood rich
54

10 The N
piuam G latory c.respiratory d.ne
igesti b.circui@ -
o il heir foo
o nargy from the sunlight 10 produce L
11 Plants use €N’y . v
dioxide gas through @ process . £
pome: c.evaporation ;

a.digestion b. phnmsuntheais

the ~ from the heart to the organs,
12 Arteries carry i

load rich in
b c.carbon dioxide d.a and b

b.nutrients

a.oxygen |

i3 Plants ond humans need 10 surVJ;-fE- g
; €.50 -
a.water b.acir
to the

14 The © cgrries woter and nutrients from the plant roots

leaves. e

a.xylem b.leaf C.root .qir

15 Which part of te plant plaus a similar role to the human circulatory

system in orger o rairitain the survival of the plant?
a.Stem b.Roots

c.Leaves d. Transport system

16 The stem of me vine plantis a/an .. .
awoodstern  b.pright stem  €.climb stem d.tuber stem

17 The . suppori(s) all plant parts and transport water and nutrients
to the rest of the plant,
0.roots b. stern C.leaves d.flowers
18 Coconut seeds disperse oy . :
a.water b.wind c.humans d.animals
19 Plum seeds disperse by sticking t6 animals' fur because they ...,
a.are light seeds b.have spines
C.are heavy seeds d.float on water
20 . seeds are light seeds, so they travel by wind.
0.Tomato b, Apple - .E'E oconut d.Maq ple

Sclanca Prim, 5 - First Term



Final Revision - —
21 Photosunthesis process takes ploce insice the leaves of plants. What
tupe of gos does a plant relegse during photosynthesis?

a. Nitrogen gos b. Hydronan gos

c. Oxygen gos d. Cnrhon dinvide gos
it The of a plant get water and nitrients from the sol
Q. roots b. stems c. leaves d. flowers
i3 The stem extends above the g-ound
a. wood B. upright C. TInners d. tubers
a4 During the photosynthesis process, the plont nroduces 0s
wQste material
a. corbon dioxide b, oxygen gas ¢ sugar dbondc
23 All the following organs are parts of *the hymaon circulatory system,
except
a. the heort b. arteries ¢, vains d. lungs

#6 Which part transports food from the leoves to the other parts of the
plant?
o. Xylem tissue b, Smallrocts ¢, Chloroolast  d. Phloem

& A plont makes its food inside its laoves when the sunlight combines
with water and

Q. OXygen gaos b. the roots

c. the stems d. ~orbon diovide
2B Plants use ____ during the photosunthesis process.

o. food b. Oxygengos ¢ mrhc;n dioxide gas d. glucose
29 The woy of seed dispersal depends on the of the seeds.

g, temperature and weather b. shape and size

¢. color and odor d. ol the previous answers
A stemis the stemn that extends underground.

Q. runner b. tuber ¢, climb d. wood

Science Prim, 5 - First Term @}_,.



; S me function as the

Put (/) oF r“l-_f—-”[";;mnts does the 59 |
stern IN : :

{ The transport s

. humans
circulatory ol hf d by respirafion. v
Ay Gwn oo QE_S
9 plants make thell S i el food by the phgmsl‘_}nthh |
lan ;
3 Humans and P &
e m the soll, (3
F’ helps the plant get woter fro
4 The xylerm blood rich in OXYygen to all body parts. ( )
5 Arteries carry the :

ants need soil to grow.

: ?:: plant's stem has hairs thot absorb oxugen gas from the air.
8 A runnerisatype of stem wh[ch_ extends underground. i
¢ Air enters the plant through the roots. ¢
10 A phloem transports food materials from the leaves to other plon

o | &
11 Potatos have tuber stems which extend underground. a

12 A xylem transports water rich in nutrients from the sail to the leaves

¢ )

13 Plants and humans are different in their ways of getting food. ()

14 Plants produce carbon dioxide and glucose during the

 photosynthesis process. ()
_TE_ The method of seed dispersal depends on the shape and size of

the seeds, (

16 Photosynthesis process takes place in the plant roots. (

‘-L'r" The plant left in the dark has large numbers of green leaves, (

18 Suniight is very important for the plant to survive, (

(

(

12 Coconut seeds can travel by wind because they are light seeds,

<0 Animals fur helps tomato seeds disperse,
B4 Scisncs Prin 5 - Fiest Yerm
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Final Revision =~

0 Correct the underlined words:
A Chlorophullin the plant's roots absorbs energy from the sunlight
2 Potato plants have runner steme
3. Plonts make digestion process to make their own food.
4 Flowers allow gases to mave in and out of the plant
5 Shrubs have climb stems.
¢ Stomata are responsible for the absorption of sunlight.
7 Plants take air through tiny holes on the stem called stomata.
8 The stem fixes the plant in the soil, A
9 Plants use oxygen gas during the photosynthesis process.
10 Most flowers have ¢limb stems; | ‘

—_——

Write the scientific term:
7 They fix the plant in the soil, -

i

They are the reproductive parts of plants.

It's a part of the plant where sunlight allows carbon dioxide to combine
with water durlﬂ_'::_g iﬁ'e photosynthesis process.

4 It's a part of thé'::_p'l.q;r"}t that supports the leaves and other plant parts,

Had

5 It is found in the plont's leaves; it gives them their green color and
absorbs energy’ frem the Sun s

& They're narrow holes sprr:-r:ld u:::n the piunt s leaves that allow gases to
come in and out of the plant. '

@ The system that transports blood throughout the human body,

'8 A blood vessel that carries the blood rich in carbon dioxide and low in
oxygen,

® Blood vessels carry oxygenated blood from the heart to all body parts.

10 The system that transports water, minerals, and sugars throughout
the plantbody.

n They are tubes in the plant that transport food materials from the

leaves to all plant parts.
Scence Prim. 5 - First Tarm o 55 |



. Final Revision

ough wh
12 The vessels In @ plant throud
from the roats 1o the leave
| SoUICE af enerdy

13 The primart g
14 The process by which plants make |
e orm one piace to another.

1sporting seeds fr

ic the process of trar
s lants.

pl'{:duclng new p

during phatﬂaynthesfs and Is needed

16 It's the process of
17 It's a gas produced {relecrsed}

tor the respiration of living organisms. TRE e
18 The gos that the plant needs to make the photosy :

ing i inerals for plants
19 It's a sustem full of water that contains important Min .

255

1o grow.

Cross out the odd word:
1 Carbon dioxide gas - Water - Glucose sugar = Sunli

ght. . '

2 Heart - Roots - Stems - Leaves |
3 Green plant - Shelter - Water - Carbon dioxide gas

4 Arteries - Veins - Stem - Blood

@ Give reasons for:

#

E@ﬂmms = FII‘!IT.rm

1 Food is very important for humans.
2 Plants’ roots have great functions.
‘@ Sunlight Is very Important for plants.

"4 Plants are important for human life.

5 Chlorophyll Is very important for plants,

6 The stem has a great function for plants.

7 Stomata have a great importance for plants,

8 Xulem and phloem are very Irnpnrtuﬁt for pianfs.
# Flowers have a great function for plants.

10 Photosynthesis process is very important for gi| living organisms



Fingl Keyisies

o what happens if:
1 Aplant is placed In g dark pluce?.

2 Bean seeds are placed on o wet paper towel and other seeds are
placed In the soll?

3 Plants have no leaves?
4 Leaves have no chlorophyli?
§ Xylem s removed from the plant structure?
@ Complete the following sentences using the words between
the brackets:

1 (xylem - Phloem - stﬂrmut::_; stems)

0. e ANSPOIs the glucose from the leaves to other plant parts.

b. Water and nutrients move up the plant's stem through the ...
c. Potatoes have tuber

..................

d.The ... an the leaves allow gases to move in and out the plant.
2 (leaves - stem - seeds - roots)
" T4 |} 4T SO _supports all plant parts.
b, A flower produces ... . for reproduction.
eThe . Lok fix the plant in the soil.
d. Photosynthesis process is the process of making food inside the
.................... of the plant.

3 (water - carbon dioxide - nutrients - leaves - Flowers)
o, Gases enter plants through the ...
b. Plant roots absorb ... and ... from the soil.
B i are the reproductive parts of many plants.
d. Plants take ... _..gas from the air to make their food.

4 (Water - green leaves - Green plants - Sun)
a The e in a plant are responsible for making its food.
b, isa source of energy for the plant to make photosynthesis
Drocess.
A— are living organisms that can make their own food.
" " _is a liquid substance that plants, animals and humans need

to: survive.

Science Prim. 5 = First Tarm @



i tomata - water)
(o
giave sU ar-35
# (carbon 08 il in ?he ieaves of plants,

a. without the

't MOove in or oy

mﬂdE in their leaves

the plant. Jhich is
b. The food of @ plant is @ type of - .

by photosynthesis pi OCess. - ore changed
¢. During er'lc‘:tcmgnIhe-;fs process,

58 what suits it in column ||| .

o Choose from column (A) W
__ cowmn(B® — O

I

Enh.lmn(A} P -
| o other plan
1 Plants roots a. moves glucose from the leaves
o s | leaves.
3 Xyle I b, transports water rich in nutrients UP to tF_}JE
m ” | |
: ‘ | ¢. absorb water and nutrients from the SO
e 2 _ B i

7 Column (A) -, -~

Column (B) N

|
| 1 Chlorophyll | |a.are the F&ﬁw*mﬁaﬂ’uﬂs of the plant
' 2 Flowers | b. captures the‘ihq_bt energy from the Sun..
3 Roots |e get water and nutrients from the soil,
' | d, move the nutrients from the leaves to all plant
{ parts.
- JUNTTIVE RS 3
- Column (A) S ‘Column (B) %
1 Potato a. extends above the ground.
2 Rumners stem | | b. plant has climb stems.
3 Vine ¢. plant has tuber stem.
' v: d.is the stem of most flowers.
. J— SRS T
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Final Revision *

(D)

column (A) Column (B)
g Tomato seeds ! a. disperse by evriirmegls’ elicypestives sysiems
2 D.'{":]F: on h.ﬂlr-rll"l ner b3l Thosratimeg o wriates
serdls C. disperse by wined
§ Coconul seeds d. disperse by sticloneg v orimals” fur
" 7 3
0 Answer the following questions:
3 Menton two methods of seed dispersnl
2 what are the main ports of a plant?
3 o This figure represents the system
b. carry the blood rich in cxugen.

c. Veins transport blood from the to the
& Classify the following plants according to the woy of dispersak
(By wind - Sticking to clothes - By water)

| Dondelion seeds

Plum seeds Coconut seeds

Complete the following seniences using the words between

the brackets: ———
(Root - Leaves - carbon dioxide gas - glucose - )
water - Flower - Stem - oxygen gos - sunlight) # Iﬁ
1 Label the opposite figure: ﬁ b
a. b. ¢
C. d. .
2 During photosynthesis process, the
plant takes ., ond 1
to produce . —and . .

Science Prim_ 5 - Firsl Term -
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0 Choose the correct answer: Con_cept 2 Revision

—

o,

I' The desert food web starts with the
a. rabbit b. grass c. algae d. insects

< Food chains include producers, consumers and decomposers. Whic,
of the following is an ex:ﬁmpie of one of these three species?

a. Grass, rabbit, fungi b. Leaf, eagle, robin
€. Seed, mouse, owl d. Flu, spider, mantis
e — 's an area that consists of living organisms and nonliving
things.
a. Ecosystem Space c. Sun d. Star

4 A snake is a predator for mice, while a snake is considered prey for

a. rabbits b. frogs c. eagles d, deer

2 Plants are considered that get their energy from the Sun.
a. decomposers b. consumers
€. producers d. nonliving things

é The mouse eats grass and seeds, while the owl eats the mouse. Thi:
is an example of .. :

a. meat-eating animals b, a food web
c. plant-eating animals d. a food chain
7 Any food chain starts with .. :
a. producers b. decomposers c. fungi d. consumers

8 Choose the correct order of the food chain: ;
a. Plant—s hawk=— snake—s mouse
b. Plant— mouse—+ hawk—s snake
c. Plant—s mouse—# snoke— hawk
d. Hawk—» snake—+ mouse— plant

? Insects are considered . because they feed on producers.
a. producers b. primary consumears
c. decomposers d. secondary consumers

— @u Sciance Prim. 5 - First Term



Final Revision ©

ich of th :
0 wh e following living organisms is considered a producer?

:;Lc;r:iu:at :: it c.5noke d.Cow
S Qrass, ___inthe
fand chain, grass; the snake 1s O
ul ] I |'-i i - "_.._
c Fll-m,d::ir TSI b.secondary cansurmer
o d.tertiary consurmer

» ET'IE"I‘QIU flows from one organism to another. Which is the correct
direction of the enerqy flow?

a.From consumers to producers b.From prGEIUCEfE to CONSUMErs
¢.From predators to prey d.From producers to predators
13 . in food webs are consumers,
o.Plants b.Predators ¢.Bacterio d.Algoe
4 When a squirrel dies in the desert its body will ..
a.grow b.freeze c.stay d.decompose
# ... are organisms that eat other living organisms to get their
energu.
@.Producers b.Consumers
c.Plants d.Decomposers
% ... Is the process which happens to all dead organisms.
a.Decompaosition b.Breathing c.Photosynthesis  d.Digestion
i All the following are consumers, except ...

a.animals b.humans C.birds - dworms
g All the following are decomposers, except ...

a.grass b.fungi c.millipeds d.bacteria
19 is/are consumers.

a.Plants b.Grass c.Humans d.Bacteria
20 . always benefit the soil

a.Decomposers b.Consumers  C.Rabbits d.Snakes

% If there are no predators in an ecosystem, the other consumers will

a.die b.not be affected c.increase d.decrease
532 What is the scientific term for the complex interactions between

producers, CONSUMETS, and predators?

a. A suitable environment b.Food chain
c.Food web d. The natural habitat

.-""‘"-
Geignca Prim. 5 - Firl Term '.él)'..



2 Fhﬂd'ﬂ'ﬂ""i"im

how ' 1
93 Food webs 8 _ yironmen
in the en A livin

- Ings
a. nonliving thing _imtionships

c. the way heat is )
d. substonces poliuting {he atmosP

. -
9 _I:le{;d webs chow how many .:}rgﬂr'lrETT"IE

are food resource

-ed examples Of

ecosystems
2 Producers and bacteria are conside :
3 Consumers complete the decomposition process :
4 A food web is made Up of two food chains or more. |
5 Consumers come after decomposers In the food chain. (
4 Decomposers include worms, Iocusts and fungk (
7 Photosynthesis process Is Very important for life o Earth. {
8 Any food chain starts with a consumer. (
¢ Energu does not flow between two consumers at the beginning of
a food chain. (
i Hawks, crocodiles, and sharks are producers. (
(

ii Seeds and carrots are examples for producers.

12 In an ecosystem {

13 The relationship between grass and rabbit is a "prey-predator”

relationship.

14 Birds are tertiory consumers because they eat insects that feed on

plants.

157
he consurmer eaten by another consumer is known as a predator

16 Dead organisms need energy.
17 Consumers use carbon dioxide gas to make their food

— 82,5 Science Prim. 5 - First Term
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(
(
(
(

(
(

consumers. (|

i

!

/

)

hat contains only rabbits, mice, snakes, and eagles,
if snakes disappear completely, the number of rabbits will increase.

)

)

)

)
)



Final Revision « —

18 HUMANs and animg|
S Qre consum
9 The food we ers,
;ﬂ Producers ﬂ:’d‘-‘“'” . damaged if the producers die.
21 The gruss-emi:ﬁmmmﬁerﬁ can make their own food,
an :
chain. 9 animals are the primary consumers in the food
-
22 Flants and hu :
mans are different in thelr waoys of getting food ()

Complete the followin
the brackets: g sentences using the words between

o —

{Prﬁd[;ill_tﬂ"c; decomposition - Humans - e?dégstam - animals - energy -
millipedes - producers - Food web - food - Worms - secondary)

PR R SR

(
(
[

1 The ... process restores the energy to the ecosystem.

2 When a hawk eats a snake, this means that the hawk is @ -

B AR i -Is an area that provides foad, water, and shelter to all living
organisms that live there.

4 o—.Ond _..._.__Qre consumers.

5 Both humans and animals cannot produce their own ..

g s s an interaction of a food chain.

7 In any food chain. plants are considered a ..

8 _....and. . . aretwotypes of decomposers.

9 In afood chain, the energy flows from a primary consumer t0 0 ...

CONsSUMer.
10 A food web is a model that describes the

organisms in an ecosyster.

. flow between living

Write the scientific term: |
{ It's a natural process through which the nutrients found in dead

organisms' bodies return to the ecosystem,

2 The final link in the food chain.
3 It's a group of living organisms that can produce thel

r own food.

4 They are animals that eat plants.
5 They are CONSUMErs that feed on pri
& It's a group of living organisms that fe

mary Consumers.
ed on secondary CONSUMETS.

Sciance Prim. 5 - First Term _;\E‘,.



 Final Revision

7 Itisa moadel that sh
ow between
js eaten

energy fl
g The animal that

¢ s @ communiy tha
con

10 It's a group of inter

1 It is the primary SOUrce
he odd word:

Lions - Tigers - Frogs
bbit - Crocodile

Cross out t

Y Foxes -
2 Eagle - Hawk = Ra

relationships ang

ows One linear s
living organisms:

by another animal

wing organisms @
d chains.

for all living organis

ad nonliving things,

t contains I
nected foo
of energy

ms on Earth,

I

3 Bacteria - COWS = Birds - Snakes

®

Choose from column (A) what suits itin column (B):

Column (A) —,

1 Producers |
!
2 Decomposers
3 Food web

4 Decomposition

Column (B) r”——w

a.increase soil fertility.

b.is made up of severa
chains.

c.is o process in
to the ecosystem.

i

| intercc:nnected food

which the nutrients are returned

ro
pracess d. get energy from the Sun.
- R | —— . -
_— Column (A) —\Il - Column (B)
; :rEg ; ‘ a.are animals that feed on other animals
econdory -
| b. i i
i | utre organisms which eat animals that eat
$ Primony | plants.
CONSUMETS ' | c.are organisms that eat plants.
4 Predaotors d.are anim :
, : al
| 5 t_hr::i are hunted by other animals.
| B 3 4

__-"-"i.




TATLY RSy Ealfer B

:;?.i\.n-_ reasons f fﬂr

‘ A rabbit is CﬂﬁSldErEd a prlt‘hurg cr::ns?ﬂjl-&l‘

2 An€cosustem s very important for the survival of living organisms.
3 Ahawk is a meat-eating animal

4 Howks depend on plants to get energuy,
5 The Sunis considered the main source of energuy.
4 Green plants are considered producers,
¥ Animals cmcf humans are considered consurners.

8 Decomposers play an important role in the ecosystem.

@ What happens if;

1 All primary consumers disappear from a certain food chain?
2 Anorganism in an ecosystem disappears?
3 A living organism dies?

4 Producers (grass) are removed from any ecosystem?
5 The number of predators increases in an ecosystem?
é Decomposers disappear from an ecosystem?

Answer the following questions:

1 Arrange the following to form a food chain:

2 a. The opposite figure represents g ... .
(food chain - food web)
b. Form a food chain that includes '
a producer,  primary Consumer,
and a secondary consumer.

Science Prim. § = First Term E@
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Test |1 {}
15

Question n (5 marks)
Iy Choose the correct answer :

1 The system that moves blood in the human body is called ... system.
() digestive (b) respiratory (¢) circulatory (d) nervous

2 Photosynthesis process produces ...
(@) glucose sugar in consumers. (b) glucose sugar in producers.
(©) water in consumers. (d) water in decomposers.

'3 Stomata are present on plant’s ............... to allow air to pass through it.

(@) roots (b) stems (©) leaves (d) flowers

‘4 All the following living organisms are decomposers, except ...
() fungi. (b) bacteria. (©) slugs. (d) hyenas.
23 Give a reason for :

Seeds of maple or dandelion plants can disperse through wind easily.

Question B (5 marks)
N Put () or (X) :

1 The plant can make its own food in the absence of water. ()

2 Producers and consumers use carbon dioxide gas for making their food. ()

'3 During photosynthesis process, the plant makes sugars, starches, proteins
and fats that help it to survive. ()

4 Hawks cannot eat some types of food like plant leaves. o)

I:3 What happens if ... ?

All types of decomposers are absent from an ecosystem.

> ACLMORNSSER 7



Primary
Science 5

Question B (5 marks)
EN Write the scientific term of each of the following :

1 Ttis a process through which the nutrients found in dead organisms bodies return

back to the ecosystem. [
2 Tubes in the plant that transport food materials from the leaves to other parts of

the plant. ey
'3 Parts of the plant that are responsible for reproduction. Coalenius)

2} Complete the following sentences :

1 There are many kinds of stems on plants like ... in vines and ...
in potato.
2 Arteries carry oxygen and nutrients from the .. to all body parts, while

e 1IN plant’s stem carries water from the roots to the leaves.

> ACLMORNSSER 8
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Te S t B Total mark
15
Question n (5 marks)

N Choose the correct answer :

1 A snake is a predator for mice, while snake is considered as a prey for ...

(a) rabbit. (b) frog. (¢) eagle. (d) deer.

2 Hydroponic system should be full of ... and .l
(@) water — oil. (b) sunlight — water.
(c) sand — water. (d) water — minerals.

3 In photosynthesis process, plant produces ................ to get energy.
(@) oxygen gas (b) sugar
(¢) carbon dioxide gas (d) water

4 Many insects are considered as .................
(a) producers. (b) decomposers.
(¢) primary consumers. (d) secondary consumers.

23 Give a reason for :

Scavengers must work on dead bodies before decomposers.

Question ﬂ (5 marks)
I3 Put (v) or (X) :
1 In a food chain, the energy transfers from eagles to mice. )

2 Chlorophyll helps the plant leaves to absorb sunlight to make photosynthesis

process.
3 All plants need the same way to disperse their seeds. (
4 Human circulatory system consists of the heart and the lungs. (

:3 What happens if ... ?

Plants can’t get carbon dioxide gas from air.

> ACLMORNSSER 9
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Science 5
Question B (5 marks)
Write the scientific term of each of the following :
1 A group of living organisms that can produce their own food. . cemmrons)
2 Small structures in the plant’s roots that increase the absorption of water and

nutrients from the soil. (i)
'3 The suitable ecosystem for plant-community ecologists to do their

researches. s

2} Complete the following sentences :

1 The presence of ... , ... and air is very important for plants to grow.

2 Living organisms include ... . ; CONSEMErS and. s

> ACLMORNSSER 10



Answers of Science

Answers of Test n
Question n

A KNG 21® El® B0)

I:) Because they are light seeds.

Question [P}
(A JEBE¢ )
2.(X)
3()
4 W)
I:8 Dead organisms will not be decomposed and their nutrients will not return back to the
soil.

Question [E}

I8 (1 Decomposition process.

2 Phloem.

'3 Flowers.

I} 1 climb stem — tubers
2 heart — xylem

L JCL-MORSSCR 18



Primary
Answers of Science 5

Answers of Test B
Question n

BIE 2@ 3®

I:) Because scavengers feed on dead bodies by breaking them into small pieces.

=)
©

Question [P}
A JERfe 4]
2.
3%
4 (X)

I8 Plants can’t make their own food during photosynthesis process.

Question B
I3 (1 Producers.
2 Root hairs.
'3 Prairie.
£33 (1 water — sunlight

2 producers — decomposers.

5 ACL-MORNSSCR 19



PR_AC_?I',ICE_”, _ - Plant Needs

' Remember (#) Understand

Apply

o Ana}m

| o Choose the correct answer:
1. Plants use energy from sunlight to make their own food from water anq Carby,

dioxide through a process called .................... ;
reproduction b. photosynthesis  c. germination  d. respiration
a.

2. A Plants use energy from .................. 10 make their own food from water and

-
@

carbon dioxide.
a. batteries b. fire c. sunlight d. wind

3. # Duckweeds are tiny, floating plants found on the top of lakes and ponds.
@ How do they get the energy that they use as food?
a. They use photosynthesis to change light energy into food.
b. They are so small that they can absorb the energy they need from water.
c. They are parasites that attach to fish to absorb the energy they need.
d. They eat other plants,
4. 4 Which of the following is taken in from the atmosphere through leaves to make

o

5 food for a plant?

a. Carbon dioxide. b. Glucose. c. Oxygen. d. Hydrogen.
5. When a plant stem is placed in red-colored water, the plant color ...
a. turns red b. turns yellow c. doesn’t change d. turns blue
@6. Xylem vessels fransport ... .
a. water

b. minerals from the soil

¢. sugars d. (a) and (b)

. A \Whi -
7. 2~ Which statement is not an accurate representation of plant activity?

2. Photosynthesis occurs in tiny structures
v Sugars are moved to leaves from roots

©. Roots carry water gng nutrients from th

called chloroplasts.
through the stem.

e soil to the rest of the plant.

dioxide + sugar

(%] CamScanner
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7 9. & Photosynthesis occurs in the chloroplasts of plant cells. Which gas is released
@ during this process? o

a. Nitrogen. b. Hydrogen. c. Oxygen. d. Carbon d|ox1d.e.
; 10. #. Tamer planted a flowering plant in a pot. He used rich soil and watered it
reqularly. Then he placed the plant into a plastic bag and hid it for a week. He
water the plant daily, but the plant did not survive.

The plant did not survive because it was not provided VYT11 o REOT——— which
f are the basic needs of the plant.

a. air and light b. water and fertilizer

c. pollen and seeds d. warmth and mulch

11. # A long, dry season in a rainforest produced below-average rainfall, and some
plant populations declined afterward. Why did the change in weather patterns

| affect plant growth in the region?

l a. The dry season caused the temperature in the area fo drop.

b. The dry season caused the soil to become less nutrient-rich.

¢. The dry season reduced the amount of water in the ground.

d. The dry season caused less sunlight to reach the ground.

®12. p—— is/are the green pigment in chloroplasts that captures the energy in sunlight.
Y o Chlorophyll b. Stomata c. Phloem d. Xylem
@13. The ..o is the most photosynthetic part of a plant.
a. trunk b. flower c. stem d. leaf
14. The ..................... helps to support the plant. It holds the leaves up to get sunlight fo
make food.
a. leaves b. stem c. seeds d. flowers
15, ... allow(s) gases exchange between a leaf and the atmosphere.
a. Roots b. Phloem c. Stomata d. Xylem

16. Root hairs are important for the plant, ... .
"'@ a. as they decrease the surface area of the roots to keep in water
b. as they increase the surface area of the roots to decrease absorption

c. as they increase the surface area of the roots to increase absorption
d. No correct answer.

17. ... from the sun is changed into ............. during photosynthesis.
a. Chemical energy - light energy b. Light energy - chemical energy
c. Thermal energy - light energy d. Electrical energy - chemical energy

D
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20.
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24.

¥

O

26.

(
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~d PRACIICE

18.

Plants and humans depend on each other, because ...

a. plants use the oxygen humans produce

b. plants need someone to water them N

c. plants use the carbon dioxide humans release and turn it into oxygen

d. plants use the glucose humans give them

. \Which part of the plant transports food from the leaves to other parts of ine plgp,
b. Rootlets. c. Chloroplasts.  d. Phloem.

a. Xylem.
Which of the following indicates the pathway of water through a plant?

a. Root hairs — Xylem — All plant’s parts
b. All plant’s parts — Root hairs — Xylem
c. Xylem — All plant’s parts — Root hairs

d. No correct answer.
“= Which part of the plant plays a similar role in keeping the plant alive to

the circulatory system in humans?

a. The stem. b. Roots. c. Leaves. d. The vascular system.
- All of the following are the main parts of the human circulatory system, except ...
a. the heart b. blood vessels  c. the brain d. blood
. An artery ... .
a. pumps blood to the heart b. pumps blood to and from the heart

¢. carries blood away from the heart  d. carries blood low in oxygen

All of the following are similarities between the circulatory system in humans
and vascular systems in plants, except ...

a. both are transport systems

0. both transport water, nutrients, and dissolved substances

c. both don't have vessels that fransport substances in specific directions

d. All the previous answers

Seed dispersion helps the seed ... :

a. not germinate b. to move to the same place and grow
¢ to move further away from the parent plant and grow

d 1o compete with the parent plant for minerals in the soil
Seeds that are dispersed by humans and animals ...

o can float on water b have bad taste

¢ have hooks or stiff hairs ¢ have wing-like structures

(%] CamScanner
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{9 complete the following sentences using words between brackets:
5 J— is the main source of energy for the plant. (The sun = Air)
© y JE—— is not considered a plant’s basic need. (Air - Soil)
3. Plants US€ ... which is produced from the respiration of other living organisms.
(oxygen — carbon dioxide)
4. One of the soil replacements is ... . (greenhouse - hydroponic sg;rsr::)
5. The plant stores chemical energy in the form of ... . (sUgars = oxygen)
6. Photosynthesis occurs in the ................ in the plant leaves. (chloroplasi = stomata)
O 7. i @ives the plant its green color. (Stomata - Cnloropi'i;ii!)
8. Flowers sometimes grow from ................. on the stem. (buds — root hairs)

9. Vines extend their stem to hand on other trees or supporting objects, so they have
(tuber = climber)

, . )
10. Strawberry has a ................. Stem. (runner — climber)
©)11. Stomata allow air rich in .................... fo be released from leaves.
._ (oxygen — carbon dioxide)
12. The plant vascular bundle is like the ........... in the human.(blood vessels = muscles)
@13. v NS one way similar to the specific direction of arteries and veins.
(Xylem = Phloem)
18, s transports sugars, starch, and fats produced in the leaves to all the
plant parts. (Xylem — Phloem)
15, .. fransports substances upward only in the plant. (Xylem = Phloem)
T pumps blood in the human body. (Heart = Kidneys)
17. Veins carry blood ... in 0xygen. (rich — low)
18. ..o fransport blood to the heart. (Arteries — Veins)

19 Seeds with a sweet taste, like seeds on the strawberry, are best dispersed by
(wind - being eaten)

20. Fluffy seeds, like kapok tree seeds, can be dispersed by ... ;

(wind — being eaten)

'-0 Put (V) or (X) in front of each sentence:

@1, Suitable temperature is one of the plant's basic needs.
2. Seeds don't need water to germinate.

@3- Plants can thrive without soil.
4. Animals can make their own food by themselves like plants.

~N o~ o~
R A

>
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5. Both plants and humans need gases 10 survive. , : )
rer to enter leaves to make photosynthesis. ( )
6. Stomata allow wa | iving organisms use 1o breathe. ( )
(©)7. Plants produce 0xygen, wlij gitee 03 2 ke photosynthesis. (
L] 8. Sunlight is the main source of energy f(.‘fl" the plant fo ma de ph olos'gn e ; )
O Sunlight allows plants to grow weak, with P.C'Ie leaves, an | short stems. )
10. Stomata in the plant leaves act as the respiratory system in PURIETE ( )
11 If the plant has no chlorophuyll, it can't make its own food. ( )
12. Root hairs increase the amount of water absorbed by roots. ( )
@13. Sunflowers have runner stems. ( )
14. Tuber stem grows up on the surface of soil like sweet potatoes. ( )
15. Water and minerals move from up to down through the xylem vessels.  ( )
__16. Phloem vessels transport the food produced from leaves to all the plant parts.( )
@’117. During photosynthesis process, chemical energy is transformed info light energy.  ( )
18. Veins carry blood rich in carbon dioxide and low in oxygen fo the heart. ( )
19. Both the plant vascular system and the human circulatory system are
fransport systems. ( )
@20. Burdock seed has hooks that enable it to disperse by wind blowing. ( )
21. Flowers play an important role in plant survival and continuity. ( )
(0 Write the scientific term for each of the following:
@ 1. The source of energy for the plant to make photosynthesis. G
2. The process that takes place inside the green parts of the plant (leaves) to make their
own food to grow and survive, Co)
| 3. A replacement system for the soil that provides the plant with nutrients and
(@) the essential elements. (G
4. The green pigment in the plant that soaks up sunlight. ((—
5. Plant structures that allow gases 1o get in and out of leaves. [ — )
6. Plant structures that anchor the plant in the soil. G )
@7. The stem type of strawberry. - )
8. Sweet potatoes are like potatoes; they have the same type of stem. (.. il
©.9. Blood vessels that transport the blood from the heart to all the body parts. (... ol
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" 10. A one-way plant vessel similar to the specific direction of arteries and veins.

11. The system which is responsible for transporting oxygen and nutrients throughout
the body. o)
@12. An organ that pumps blood throughout the body. G )
13. A miniature plant waiting to grow. C oo )
14. An organ in the plant that is responsible for reproduction. GO,
(+/15. A way that is used to disperse fluffy seeds like kapok tree seeds.  C.....ocimd
(_b Look at the following figures, then answer:
(A) Write the letter that suits each sentence. . — e
1. Photosynthesis process takes place in(........) b “
2. (......) absorb water and nutrients. J
3. (...........) captures sunlight. ; . _’
4. (.........) is the reproductive plant structure. - J&
5. (..........) gives the plant support. ‘ 24
Plant A Plant B
(B) Your observation after one week (j -
IS oo, , | gy
1. Plant (A) dies, while Plant (B) lives. | [’;ﬁ/
2. Plant (A) lives, Plant (B) dies. B
3. Plant (A) is stronger and grows ) /T ;h A
healthy than Plant (B). .
A plant in the sunlight A plant kept inside a
closed box

(C) Light is a plant's basic need, so plants grow toward it.

Draw a circle for each one, that represents the sun that suits its growth direction.

(A) (B) ©
)

(%] CamScanner
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(D) 1. Write down the
for a few days.
T ———————

2. We can conclude that the .

lor of each flower after leaving them in the colored Wate,
co

(xylem - Phloem) vessels transport Water ...

(upward — in all directions)

O Answer the following questions:

(A) List what plant needs to make photosynthesis.

3.

(B) Soil is not a plant's basic need, but plants still need minerals and essential

elements that are provided by the soil.
@ - How could the soil be replaced?

@ (C) Write the common basic needs between plants and humans.

............................................................................................................

- Explain how different the taken-in gases are.

(E) Plants have a green color, this green structure plays an important role in photosynthesis.

- This green structure is called

(o)

- Its function:

....................................................................................

(F) Xylem plays an important role in obtaining life-

- What will happen to the plant if there are no

sustaining elements.
xylem vessels?

@ (G) How could the flowers and seeds be important for theplant'

(H) Arteries and veins both have specif.i.;

the type of gas that each one carries.
@

s survival?

functions, Compare them concerning


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

Concept 1
. TEST YOURSELF I Plant Needs

o Choose the correct answer:

1. All of the following are from the plant parts, except ....................

a. the flower b. leaves c. roots d. veins
2. Plant absorbs ... from the soil to make their own food.
a. oxygen b. minerals c. water d. (b) and ()
3. Veins carry blood low in ... Ao d s
a. oxygen b. carbon dioxide
. water d. All the previous answers
4. Vines have afan ... stem.
a. runner b. climber c. woody d. upright
5. Flowers are important for the plant, as they ............c....... :
a. produce seeds b. are the reproductive organs
c. absorb water d. (a) and (b)
Q (A) Complete the following sentences using words between brackets:
T s anchors the plant in the soil. (The root — The stem)
2. Arteries carry blood rich in ... . (oxygen — carbon dioxide)
3. A plant stem grows .............. the source of light. (away from - toward)

(B) Put (V) or (X) in front of each sentence:

1. Plants use the sugars they make to grow and heal. ( )
2. The blood direction within the veins is similar to the water flow within
the plant’s xylem vessels. ( )

0 (A) Write the scientific term for each of the following:

1. The process where plants can make their own food by themselves. (..................)
2. A replacement system for plants that provides them with nutrients instead of the soil.
3. The stem type of shrubs. T, |

(B) Answer the following question:

- Plants depend on humans' respiration waste products, while humans depend on
plant waste products from photosgnthems Explain.

65:84% 85:100%

'.# \  Assess Your Progress < 50% ~ 50:64%
2 vreer oEERED m
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/ ‘ Energy Flow in Ecosystems

(6 Remember () Understand Apply Anal’
(\o Choose the correct answer:
1.4 All oo need a source of energy.

a. rocks b. minerals c. oceans d. organisms

° 2. During photosynthesis, radiant energy flows from LT I—— (| 3 P
@ a. nutrients b. Moon c. Sun d. water

3.4 An ecosystem CONSists Of ... :
a. living things only b. non-living things only

c. living and non-living things d. No correct answer.
" 4. A~ Plants are ... that get energy from the Sun to make their own food,
| a. decomposers b. consumers c. producers d. non-living

@5. #~ Food chains include producers, consumers, and decomposers, which of the
following is an example of the three?

i a. Seeds, Mouse, Owl b. Fly, Spider, Grasshopper
" c. Nuts, Squirrel, Fungus d. Leaf, Eagle, Robin

6. Slug is an example of @ ..o :
a. producer b. scavenger

c. decomposer d. No correct answer.

7, #=~ Which organism gets energy from another organism?

. a. A cactus. b. An acacia tree. ¢, A rabbit. d. A flower.
8. ............................ carry out the processes of breaking down or decaying dead organis™
a. Producers b. Consumers

C. Decomposers d. All the previous answe’
9. # Energy in the form of food flows from one organism to another. Which is the
correct direction of this energy flow?

@ a. From producers to consumers.

b. There is no energy flow between producers and consumers
c. Back and forth between consumers and producers
d. From consumers to producers.

i
i

10. Which of the following represents *
(D) . Grass and Snake
c¢. Owl and Green plant

Prey-predator” relarionship? SO
b. Snake and Mouse

d. All the previpys answers.

CamScanner
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g 11. A grasshopper eats grass and seeds, the mouse eats the grasshopper, and the owl
. eats the mouse. This is an example of a/an
|

a. carnivore b. insectivore c. food web d. food chain
12. 2 A food web shows the

C: a. non-living features in the environment
. b. feeding relationships between organisms

. c. way that heat is trapped in an environment
d. substances that contaminate the atmosphere

13. Animals are ............. as they must eat other living things fo get energy.
a. producers b. consumers
@ c. decomposers d. All the previous answers.
14. What are the complex interactions of producers, consumers, and predators called?
a. A niche b. A habitat c. Afood web  d. A food chain

f
|

1 15.When the decomposers disappear from a habitat, ..................... .
i a. they produce their own food using radiant energy
b. they move to another ecosystem
. c they will recycle the ecosystems environment
U d. the dead bodies will cover this habitat
16. 2 Identify the correct order of this food chain.
a. Hawk —» Snake —» Mouse —» Plant
b. Mouse —» Snake —» Hawk — Plant

5, ¢ Plant — Mouse —» Snake — Hawk

Y d. Plant —» Hawk —» Mouse — Snake

17.In any food chain, primary CONSUMErS €ar ........ooocovove.

a. plants and other animals b. plants

c. large meat-eating consumers d. All the previous answers.
'V |- D—— is a community of living things, non-living things, and the environment.
v a. Food chain b. Ecosystem c. Food web d. No correct answer.

19. # Wolves prefer to hunt deer for food. If the deer population in an area declines
because of hunting by humans, the wolves would most likely ... -
a. find an area with more deer b. start to attack human hunters

¢. become endangered and then extinct d. choose another food to eat

® 20. All the following are ecosystems except " s ,
\ a. Ocean b. Desert c. Space d. Rainforest
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"¢ PRACTICE

Complete the following sentences using words between brackets;
0 P (green plants -5,

(Ecosystem = Sy

0
’J +

1. The primary source of energy T3 L[ R—— .

@ ioti ioti tors.
) ins biotic and abiotic fac .
(-. . o that e feeds on producersisa ...

(primary ~ secong,,
(producers — decompog,,

3 The consumer that feeds on an animal that
@ consumer.

(@)4. Green plants are classified as ... o s = decompu,
- 5 The consumer that is eaten by another animal is called ........... {a predator - 5,

" ter,d i P s ‘.

@b. Organisms that can make their own food are ... : (ft:iecompo2 produce;;
i i (}G.’J'.-J -

7. The consumer that eats another animal is called @ ... « \Preaoiar~prey

o8 " is a model that shows a linear set of feeding relationships ?_”d energ_,j‘
movement among living things and energy movement.  (Food web — Food crg.
9 The . ........isa primary consumer. (mouse = hay,
10. During photosynthesis process, radiant energy changes info ... e €NRIGY.
@ (heat - chemicz
11. Any food chain begins with @ ...........c..c....... . (producer - decomposz
12. ... areorganisms that help in the animal’s decomposition process.
& (Producers — Decomposes

13. Any food chain begins with producers and ends with ... .
(producers — decomposer:
€) Put (/) or () in front of each sentence:

The energy flows in the food chain from consumers to producers. (

2. Food web is a model that shows a linear set of feeding relationships and energy
& flow among living organisms. Bl

3. Long food chains consist of more than 1 consumer. ((
4. Scavengers consume the remains of dead animals qng plants ( ‘
S 5. Withou decomposers, the Earth would be full of dead bodi | .
{_‘!“;b Compaosition is the nature's recycling faclorg. - (
t3.7. Food chains overlap within the ecosystem forming food web ) )
8 Hyenas, snails, slugs and earthworms qre examples of Al ( )
9. Producers are the firss link in the food c} decomposers (
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0 Write the scientific term for each of the following:

1.

1. Itis a fundamental process to Earth, where plants absorb Sun’s energy through
their leaves to make their own food by converting water and carbon dioxide from
the air into glucose. Comn)
2. Itis a model that shows a linear set of feeding relationships and energy movement
among living things within specific species. (|
3. They are the organisms that are able to produce their own food. Cor)
4. They are the animals that eat plants. G )
5. They are the animals that eat primary consumers. (o)
6. They are the large meat-eating animals that eat secondary consumers.C...................)
@7 They are the animals that eat other animals. SR |
8. They are the animals eaten by other animals. STT— )
9. Itis the final-link in a food chain. ———
10.It is a model that shows many different feeding relationships among living things.
11. They are the animals that eat dead animals. SO, )
12. They are the nature’s recycling factory. (R
13.1t is the source of radiant energy to the plants. R
14.1t represents the energy flow between organisms in an ecosystem. G |
6 Answer the following questions:
Eagle Wolf

Which of the following \ /

is a secondary consumer?

Crab spiders Snakes

a. Ebony tree
b. Snakes
c. Wolf Mouse

e

Evergreen bush
aD

CamScanner
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‘; .
s to build a food chain:

2. Arrange the given organism

v 5

Decompasers

",
3. Classify the following organisms into "Producers and Consumers™:

4. Look at the following ecosystem, then circle the correct food chain that represen

this environment:

5. Look at the opposite food web, then classify
each organism into “Producer, 1" Consumer,

2'4 Consumer” in the given table:

gird
Producer *%
B . _ Grass opper/' f
- "-_;_ ; =k 1\, /"\
1% Consumer . B ﬁ\

i ‘. == .v\ ﬂr“

2" Consumer * y, 4

L R Carrot Grass Grain
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€) Choose the correct answer:

1.

Which of the f0||0Win9 organisms comes at the end of a food chain?

a. Decomposers b. Producers c. Consumers  d. No correct answer
Which of the following represents a food chain?

a. Hawk — Crocodile —» Mouse —». Grasshopper

b. Mouse — Rabbit —» Cactus —» Lattice

c. Plant — Mouse — Snake —» Hawk

d. Plant — Hawk —» Mouse —» Snake

o AF@ the organisms that are able to produce their own food.

a. Decomposers b. Producers c. Consumers  d. Insectivores
All organisms need ...
a. predators b. energy c. decomposers  d. No correct answer

A food web shows the ...

a. non-living features in the environment

b. feeding relationships between organisms

c. way that heat is trapped in an environment
d. substances that contaminate the atmosphere

Q Write the scientific term for each of the following:

1. They are the organisms that cannot produce their own food, but they must eat

other living things fo get energy. (R
2. Itis a community of living things, non-living things, and the environment. (.....................)
3. They are the organisms that carry out the processes of decomposition

by breaking down or decaying dead organisms. Co )
4. Tt is the first-link in a food chain. ——
5. They are the animals that eat plants only. Com )

0 Look at the opposite figure, then answer:
S A

1. This diagram represents @ ... . o Q@

(food web — food chain) l s \
2. The producer is i T —— &
3. The primary consumer is | (] .ﬁ

H BIRD EDND
4, The secondary consumer is the ... A v soge
oo

5. The tertiary consumer is A

et 50 : 64% 65 : 84% 85:100% 83
Progress < 50%
\ tudy

=
GRASSHOPPER - PLANTS
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I Ongoing Assessments '
Cbncept plant Needs

Answer Guide: P.71

AgSJﬁ&,Lﬂgnt @ (Total mark)

Choose the correct answer:
1. Which statement is not an accuraf ot
s.
a. Photosynthesis occurs in tiny structures called chloroplas

b. Sugars are moved to the leaves from the roots through the stem.
o the rest of the plant.

e representation of plam activiry?

c. Roots carry water and nutrients from the soil f
d. Plants use sunlight, nutrients from the soil, water, and air to make the food they need.

2. allow(s) carbon dioxide to enter the leaves.
a. Stomata b. Chloroplasts
c. Chlorophyll d. Roots

3. Potato and sweet potatoes can grow underground, so they are ................
a. tuber stems b. climbing stems
¢. runners d. shrubs

4 A .. I8 actually @ miniature plant waiting to grow.
a. seed ~ b. leaf
c. rock \ d. flower

5. Wing-shaped seeds can disperse by ... easily.
a. air b. sunlight
R RaET d. animals

: Complete the following sentences using words between brackets:

| ——— absorbs light energy to help the plant make its food.

(Chloroplast - Roo)
2. Xylem helps the plant transport water and minerals from the roots p

(upwards - in all directions)

- R, A4 4 carry blood rich in oxygen, (Arteri Veins)
rteries —

4. Pldnts:absorb '..c00a00 - from the air to make their own food

ioxide)
5. Arteries carry blood from the heart and the . " (Dﬁgienb-;arbon diox
........................................ 0aq the bo gpaﬂs.
(ungs b1

. “S— 1 S
g . 5
C Al-Adwaa / Science / Primory
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B (A) Put (v) or (X) in front of each sentence:

1. The plant grows well and healthy with green leaves in the absence of light. ( )
2. The blood flows in all directions within the blood vessels. ( )
3. Plants and animals can make their own food by themselves. ( )

(B) Write the scientific term for each of the following:

1. The process by which plants make glucose that helps them grow and thrive.

2. The system that fransports water, minerals, and sugars throughout the plant body.

D Answer the following questions:
1. Look at the plant, then answer:

a. The function of number (1) is

2. The waste product of the plant that is produced during photosynthesis is important for

other living organisms. Explain.

| 5
Al-Adwaa / Science / Primary 5 )
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N ongoi ng Assessments

Answer Guide: P. 71

As“seS_,§,,ment @ (Total mark) ' |

n Choose the correct answer:

1. During photosynthesis, plants can convert ........... energy 10 ... energy,
a. light, chemical b. chemical, light
c. light, thermal d. chemical, thermal
2. Roots absorb ... ... and oo from the soil.
a. minerals b. carbon dioxide
C. water d. Both (@) and (c)

3. The plant can reproduce and survive by haViNg ... -

a. flowers b. seeds

c. air d. Both (a) and (b)

4. All the following are among the products of photosynthesis that are used by the plans

10/grow exCcept s

1 a. sugars b. fats

1 c. proteins d. oxygen

- 5. The........pump(s) blood throughout the body through a closed system of tubes
a. arteries | b. heart
¢. veins d. phloem

y |

B Complete the following sentences using words between brackets:

1. Plants need ... fo grow. (shelter — sunligh)
| 2. The <. helps to support the plant. It holds the leaves up to get sunlight to make
i food.

‘ (stem — flowe?
3. The phloem vessels carry ... from the leaves to all the plant parts

;‘l
(water — sugar

% allow(s) air to move in and out the leqyes Phloem’
.’ = £V B hit i gt dnd e wing-shaped strycryre can b : S :
f\\,____b_g_ — e dispersed easily ‘
D (air — watt’
e S . ohi o
(s
Al-Adwaa / Science / Prim"rgs
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B (A) Put (V) or (X)in front of each sentence:

1. Plants make their own food and use the energy which they have got from the food to grow.

( )
2. Seeds can germinate without soil. ( )
3. Both plants ang humans need gases to survive. ( )
(B) Write the scientific term for each of the following:
1. A blood vessel that carries blood rich in carbon dioxide and low in oxygen.
(o )
2.A plant part that anchors it in the soil. | S —

B Answer the following questions:

1. This figure represents the ... . sgstem:

l a. Arteries fransport blood from the to

b. Veins transport blood from ........tothe .o

2. Plant roots have small structures called “root hairs.” What is their function?

k | e ———————— .__,__ﬂ’_,_,- D

Al-Adwaa / Science / Primary 5
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Answer Guide: P. 71

Assessment(1)  (rotaimark)

n Choose the correct answer:

1. ... are the organisms that are able to produce their own food.

a. Consumers b. Decomposers c. Producers d. No correct answer.,

2. Fungi and Bacteria are called ... .

a. consumers b. decomposers c. producers d. scavengers

3. All the following are types of ecosystem except

a. ocean b. sun c. rainforest d. tundra

4. The eagle in a food chain is a predator, as it obtains its energy by weamd sl |
a. eating decomposers b. eating consumers

¢. making its own food d. eating producers

5. Which of the following is the proper order of a short food chain?

a. Producers — Decomposers.
b. Consumers — Producers —> Consumers.
¢. Producers — Consumers — Decomposers.

d. Consumers —> Producers — Decomposers.

D Put (/) or (X) in front of each sentence:

1. The consumer eaten by another animal is called a predator,

« )
2. In the presence of decomposers, the Earth would be fyl| of dead bodies. «C )
3. Energy in the form of food flows from the producers to the consumers, ( )
4. All living things are a part of the food chain. ( )

5. Long food ch

ains consist of only one consumer.

i 5 ¢ )
— e

Al-Adwaa / Science / Primary 5
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Write the scientific term for each of the following:

1. They are the organisms that cannot produce their own food, but they must eat other
living things to ger energy. ( )
2. They are the nature’s recycling factories. Com )

3. The model that shows many different feeding relationships among living things.

G )
4. They are the animals that eat dead animals. Gt )
- 5. They are the organisms that are able to produce their own food. (... )

D Lookat the following figure, then answer:
(A) This figure represents @ ... .
(food web - food chain)

(B) Classify the following:

1. The producer(s) is/are the . .

2. The first consumer(s) is/are the oo
3. The second consumer(s) is/are the ...

4. The tertiary consumer(s) is/are the ... .

\ D

Al-Adwaa / Science / Primary 5
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B ‘Ongoing Assessments

ﬁmsessmeﬂt'® (Total mark) W

- Answer Guide: P. 71

l Choose the correct answer:

I i islare the source(s) of radiant energy to the plants.

a. Producers b. Sunlight c. Decomposers  d. No correct answer
2.All ... need a source of energy.

a. minerals b. oceans c. organisms d. mountains

3. When the decomposers disappear from a habitat ................... .
a. they produce their own food using radiant energy

b. they move to another ecosystem
c. they recycle the environment of the ecosystem
d. the dead bodies will cover this habitat

4. All the following are scavengers except ... .
a. vultures b. hyenas
c. bacteria d. houseflies

5.Abananatreeisa ... .

a. 1™ consumer b. 2"Y consumer

c. producer d. decomposer

P Complete the following sentences using words between brackets:

1. Fungi are classified as . s (producers — decomposers)
2. Any food chain ends with ... . (producers — decomposers
3. In a food web, spiderisa ... ; (1™ consumer — producer)
4. Producers are the ..................... link in the food chain, (first — second)
5. During photosynthesis process, ..................... energy changes into chemical energy.

(electric — radian?)

——

i Al-Adwaa / Science / Primary 5
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ED matchs
rgm column (B) what suits in column (A):

(A) (B)
1. It is the fing| link in a food chain. a. Prey.
2_ . -
The community of living and non-living things ;
is called the ..  BEGApOsSE
- S are the animals that eat primary : .
consumers, e R R

4. If a grasshopper eats the plant, then the

grasshopper is q.......... . % SeEaidary Canistiier

5.In a food relationship between a fox and
a rabbit, the rabbit is the ...

e. Ecosgstem

) Look at the opposite figure, then answer:

—_—

(A) This figure represents @ ...
(food web - food chain)

(B) Classify the following:
1. The eagle is @ ... -
2. The bird is a
3. The SNl IS G wcumrmmnm

4 The sunflower is @ . -

ol 1D
i 5
Al-Adwad / Science/ primary
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Model (1)

o (A) Choose the correct answer:
L J— carry/carries blood from the heart to all the body parts.
a) Arteries b) Veins ) Lungs d) Phloem
2 All the following are ecosystems, except .
a) desert b) tundra ¢) rainforest d) space
3 All the following are from the plant basic needs except - .
a) water b) air ¢) soil d) sunlight
4 |dentify the correct order of this food chain - .
a) Owl —» Frog —» Grasshopper —» Grass
b) Frog —» Owl —» Grass —» Grasshopper
¢) Grass —» Grasshopper —» Owl —» Frog
d) Grass —» Grasshopper —» Frog —» Owl

(B) Plants are very important for other living organisms. Explain.

9 (A) Complete the following sentences, using words between brackets:
1 Veins carry blood rich in oo . (oxygen — carbon dioxide)
2 Plants are - that get energy from the sunlight to make their own food.

(decomposers — producers)

= S —— transports the food of the plant from the leaves to all the parts of the plant.
(Xylem — Phloem)
4 The consumer that feeds on an animal which in turn feeds on producers is called a -
consumetr. (primary — secondary)

(B) Arrange the following food chain (1 - 3):

2

9 (A) Put (V) or (X) in front of each sentence:

1 Energy does not flow between two consumers at the beginning of a food chain. (o)
2 Soil is among the basic needs of a plant. ()
3 Seeds with good taste can be eaten and dispersed by animals. ()
4 Rabbit and snake, is a "Prey-Predator" relationship. ()

(B) Plants’ roots play a very important role for the plants’ survival. Explain.

)




Model (2)

o (A) Choose the correct answer:

P The - is/are the reproductive part(s) of the plant.
a) flower b) stem c) leaves d) roots
2 All of the following are from the components of the human circulatory system except - .
a) heart b) veins C) arteries d) phloem
3 An ecosystem consists Of i .
a) living organisms only b) non-living things only
¢) living organisms and non-living things d) No correct answer
4 Plants are ... that get energy from the Sun to make their own food.
a) decomposers  b) consumers c) producers d) non-living

(B) What will happen if a plant is left in a dark room for several days?

9 (A) Put (v') or (X) in front of each sentence:

1 All organisms need energy to survive and grow. ()
2 Xylem vessels transport water and minerals in all directions. ()
3 The predator is the consumer eaten by another consumer. ()
4 The plant absorbs carbon dioxide from the air to make its own food. (-

(B) Which of the following is the correct order for the food chain?

9 (A) Complete the following sentences, using words between brackets:

1 Plants produce - during photosynthesis that helps them grow, heal and reproduce.

(oxygen — glucose)

R — consume the remains of dead animals and plants. (Consumers — Decomposers)
3 Inlonger food chains, are classified into primary, secondary and tertiary.

(producers — consumers)

8 The - captures sunlight to help the plant do photosynthesis. (chlorophyll — flower)

(B) Xylem plays an important role in obtaining life-sustaining elements.
What will happen to the plant if there are no xylem vessels?

)



Model (3)

o (A) Choose the correct answer:

1 Plants use energy from o to make their own food from water and carbon dioxide.
a) batteries b) fire ) sunlight d) wind

2 When a plant stem is placed in red-colored water, the plant color - .
a) turns red b) turns yellow c) doesn’t change d) turns blue

8 Photosynthesis occurs in the chloroplasts of plant cells. Which gas is released during this
process?
a) Nitrogen b) Hydrogen c) Oxygen d) Carbon dioxide

4 A very short food chain consists of - .
a) a producer, 2 consumers and decomposers
b) 2 producers, 1 consumer and decomposers
¢) a producer and 2 consumers
d) a producer, a consumer and decomposers

(B) Which of the following is a secondary consumer? " \ /\WOH

a. Ebony tree Crab spiders Snakes

b. Snakes f [

c. Wolf o Mouse

d. Ants

9 (A) Put (V) or (X) in front of each sentence: Ebony Tree Evergreen bush

1 Plants can thrive without soil. ()
2 Stomata allow air to enter leaves to make photosynthesis. ()
3 Grasshopper is a primary consumer. ()
4 Producers are the first-link in the food chain while consumers are the final-link. ()

(B) Mention the common basic needs between plants and humans.

9 (A) Complete the following sentences, using words between brackets:

1 The plant stores chemical energy in the form of - . (sugars — oxygen)
2 Fluffy seeds, like kapok tree seeds, can be dispersed by - . (wind— being eaten)
8 The consumer that eats another animal is called @ - . (predator — prey)
4 During photosynthesis process, radiant energy changes into ... energy.
(heat — chemical)
(B) Look at the opposite food web,then classify each organism into Fox "é
" producer, 1%t consumer, 2"¢ consumer" in the given table: ((«“ 45\ Bird
Producers ) gbb" W%\
&_e
17 Consumers L hﬁ% \
|27 Consumers ) w -

)



Answers

Model (1)

o (A) Choose the correct answer:

L carry/carries blood from the heart to all the body parts.

a) Arteries b) Veins ) Lungs d) Phloem
2 All the following are ecosystems, except - .

a) desert b) tundra c) rainforest d) space
3 All the following are from the plant basic needs except - .

a) water b) air ¢) soil d) sunlight

4 |dentify the correct order of this food chain - .
a) Owl —» Frog —» Grasshopper —» Grass
b) Frog —» Owl —» Grass —» Grasshopper
¢) Grass —» Grasshopper —» Owl —» Frog
d) Grass —» Grasshopper —» Frog — Owl
(B) Plants are very important for other living organisms. Explain.
Plants release oxygen that helps living organisms in breathing.

9 (A) Complete the following sentences, using words between brackets:
1 Veins carry blood rich in . (oxygen — carbon dioxide)
2 Plants are - that get energy from the sunlight to make their own food.
(decomposers — producers)
e —— transports the food of the plant from the leaves to all the parts of the plant.
(Xylem — Phloem)
4 The consumer that feeds on an animal which in turn feeds on producers is called @ -
consumer. (primary — secondary)
(B) Arrange the following food chain (1 - 3):

9 (A) Put (V') or (X) in front of each sentence:

1 Energy does not flow between two consumers at the beginning of a food chain. )
2 Soil is among the basic needs of a plant. (X)
8 Seeds with good taste can be eaten and dispersed by animals. V)
4 Rabbit and snake, is a "Prey-Predator" relationship. V)

(B) Plants’ roots play a very important role for the plants’ survival. Explain.
Plant roots absorb water and minerals from the soil and transport them to all the plant parts

)

by the xylem vessels.




Model (2)

o (A) Choose the correct answer:

D The - is/are the reproductive part(s) of the plant.
a) flower b) stem c) leaves d) roots
2 All of the following are from the components of the human circulatory system except - .
a) heart b) veins c) arteries d) phloem
8 An ecosystem consists Of .
a) living organisms only b) non-living things only
¢) living organisms and non-living things d) No correct answer
4 Plants are - that get energy from the Sun to make their own food.
a) decomposers  b) consumers ¢) producers d) non-living

(B) What will happen if a plant is left in a dark room for several days?

It will grow weak, and short with pale and yellow leaves
9 (A) Put (v') or (X) in front of each sentence:

1 All organisms need energy to survive and grow. )
2 Xylem vessels transport water and minerals in all directions. (X)
8 The predator is the consumer eaten by another consumer. (X)
4 The plant absorbs carbon dioxide from the air to make its own food. V)
(B) Which of the following is the correct order for the food chain?
a.
b.
C.
9 (A) Complete the following sentences, using words between brackets:
1 Plants produce during photosynthesis that helps them grow, heal and reproduce.
(oxygen — glucose)
@) consume the remains of dead animals and plants. (Consumers — Decomposers)
3 Inlonger food chains, - are classified into primary, secondary and tertiary.
(producers — consumers)
4 The captures sunlight to help the plant do photosynthesis. (chlorophyll — flower)

(B) Xylem plays an important role in obtaining life-sustaining elements.
What will happen to the plant if there are no xylem vessels?
The plant cannot transport water and minerals that are absorbed from the soil, so it cannot

make its food and dies. R
Sai¥l Guolll cuall @.




Model (3)

o (A) Choose the correct answer:

1 Plants use energy from o to make their own food from water and carbon dioxide.
a) batteries b) fire ¢) sunlight d) wind

2 When a plant stem is placed in red-colored water, the plant color - .
a) turns red b) turns yellow c) doesn’t change d) turns blue

8 Photosynthesis occurs in the chloroplasts of plant cells. Which gas is released during this
process?
a) Nitrogen b) Hydrogen

4 A very short food chain consists of - .
a) a producer, 2 consumers and decomposers
b) 2 producers, 1 consumer and decomposers
¢) a producer and 2 consumers
d) a producer, a consumer and decomposers

c) Oxygen d) Carbon dioxide

Eagle Wolf

(B) Which of the following is a secondary consumer? \ /\
a. Ebony tree
b. Snakes
c. Wolf
d. Ants

Snakes

Crab spiders
f Mouse
AMSM

Ebony Tree Evergreen bush

9 (A) Put (V') or (X) in front of each sentence:
1 Plants can thrive without soil. (V)
2 Stomata allow air to enter leaves to make photosynthesis. (V)
8 Grasshopper is a primary consumer. V)
4 Producers are the first-link in the food chain while consumers are the final-link. (X)
(B) Mention the common basic needs between plants and humans.
Water and air
9 (A) Complete the following sentences, using words between brackets:
1 The plant stores chemical energy in the form of - . (sugars — oxygen)
2 Fluffy seeds, like kapok tree seeds, can be dispersed by - . (wind- being eaten)
8 The consumer that eats another animal is called a - . (predator — prey)
4 During photosynthesis process, radiant energy changes into ... energy.
(heat — chemical)
(B) Look at the opposite food web,then classify each organism into Fox

" producer, 1t consumer, 2"¢ consumer" in the given table: ﬁ

p
Producers

WA gt "
Carrot - Grass - Grain Rabbit \

1v Consumers

Rabbit - Mouse - Grasshopper Bird

\2 ¥ Consumers

Fox - Owl

)
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primary 5 - first term

Question 01 Choose the correct answer J

(D ............. is the main source of energy for all living organisms.

\Xater @ The sun @ Food @ The moon
@ ............. absorb the sunlight that plant needs to make food.

Xylem vessels @ Roots @ Leaves @ Stem

@ The ... transports water and nutrients from roots to leave
Stem (b) root hair (e) seed @) flower
@ The system in humans that moves blood in human body is called............

digestive @ respiratory @ Circulatory @ nervous
@ All the following ways help plants to disperse their seeds, except.........

air (b) sunlight
@ water @ Animal bodies
@ Through ............ blood rich in carbon dioxide gas returns back to the heart.
xylem @ lungs @ veins @ arteries
@ From plants having climb stem is ...................
Maple (b) potato (©) pine @ vine
0 WhOut.. &smidin., the plant can’t grow well
insect (®) rocks (e) sunlight (d moonlight
@ ............ carry blood rich in oxygen and nutrients from heart to all body cell
Lungs @ Veins @ Phloem vessels @ Arteries
For making food, plants take ................. from the air.
g:;bon dioxide " ) oxygengas (€) water (@) sugar
® ............ is a process occurring when the plant seed begins to grow and
makes sprouts.

Respiration @ Absorption @ Germination @ Reproduction
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primary 5 - first term
@ Plant produce............ during photosynthesis process.
A ® ompenandsgr @ Spendoie @ gugenand
@ From the materials cannot reach to the plant’s leaves ...............
;aarsbon dighitie @ nutrients @ water @ soil
@ .................. stems are from kinds of stems that extend underground.
tuber (®) climb (©) wood @ runner
@ For making photosynthesis process, plants need ....... and ......... from the air.
sunlight — carbon dioxide @ sunlight — oxygen.
@ oxygen — nutrients. @ oxygen — water.
Maple seeds are ...c........-c...... seeds, so they travel by wind.
spiny @ light @ heavy @ smooth
@ To reproduce, flowers produce ..........cccccccernne.
leaves @ stems @ seeds @ roots
Pores on the surface of plant’s leaves that allow gasses to move into and
out of the plant are called .............cccuune
stomata @ xylem @ phloem @ hairs
Through .....tubes, food moves from the leaves to the other parts of the plant.
stomata (b) roots (¢) phloem @ xylem
@ Ligr_'lt energy of the sun is changed into .............. energy in plant’s leaves
during photosynthesis process.
sound (b) electric (©) chemical (@) kinetic
@ Plants can make their own food through......... process
breathing (b) photosynthesis (€) digestion (@) reproduction
@ .............. is an area consists of living organisms and non-living organisms.
ecogystem ® DA @ MRy @ oo
@ A snake is a predator for mice, while snake is considered a prey for .........
rabbits (b) frogs (e) eagles @ deer
@ Plants are from......... that get their energy from the sun to produce their food
decomposers @ consumers @ producers @ 3::2;: ng
e 000 Rl s et
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primary 5 - first term

Hawks get their energy by eating .............

Plants only (b) Animals only

(¢) Plants and animals. (d) Non-living things

Any food chain started with ........c.cccverunnee

producer @ decomposers @ fungi @ consumer
Insects are considered as .................... because they feed on producers.
producers Egngers_ () decomposers (d) zﬁf;zcrféﬁ
\Xhich of the following living organisms considered as a producer?

fungi (b) pine tree (€) snake @ cow

\Wind plays an important role in dispersing .......... Seeds

Smalllight  (b) Bigheavy  (€) sticky (@) floating

A snake eats a rabbit which eats grass, the snakeis a .............. in the food
chain.

IR | ZfNOwx = T NG LD L e

TE ittt in food web is consumer.

plants @ predator % decomposers @ algae

\¥’hen a squirrel dies in the desert, its body will.............

grow (b) freeze (e) stay (d) decompose
.................. are organisms that eat other living organisms to get their energy
Producers @ Consumers @ Plants @ Decomposers

.................. is the process which happens to all dead organismes.
Decomposition @ Breathing @ Photosynthesis @ Digestion
Any food chain starts with ...............

insects ® plants @ fungi @ bacteria
All the following are decomposers except...........

grasses @ fungi @ millipeds @ bacteria
................... is a consumer living organism.

Plant @ Grass @ Human @ Bacteria

o) ao JUA (o willuisllg CilySaall Gle Jgaanll plidos
"o 3geas /| - jusiall” dxaw JUA (4o gl OR Code I
il aie sgisall Lale Ggas alelo ap ®




science

primary 5 - first term

........................ always benefit the soil.

Decomposers (B) Consumers (€) Rabbits (@) Snakes
If there are no predators in an ecosystem, the other consumers will ..........
die @ not affected @ increase @ decrease

\¥/hat is the scientific term for the complex interactions between producers,
consumers, and predators?

A suitable environment (b) Food chain
(€©) Food web (d) The natural habitat

put ( true ) or ( false ) )

@ Tiger, plants and humans need food and water to survive. ( )

@ In initial growth, all seeds need soil.

@ Plants need water and air only to grow.

@ Grapes have climb stems.

@ Tomato seeds are spiny, so they can stick to animal fur.

@ Roots anchor the plant in the soil.

@ Burr (plum) seeds are spiny, so they can stick to animal fur.

Roots fix the plant in the soil.
@ Chlorophyll in plant’s root absorbs sunlight.

Veins carry blood rich in oxygen and nutrients. )

® Phloem transports glucose from the leaves to the other parts of ( )
the plant.

@ Green plants can grow well in a dark room.

@ Blood moves only in one direction in human’s veins or arteries.

@ Food and oxygen provide the body with the energy needed.

@ Xylem is important for plants to transfer water from plants roots | )
to leaves.

Plants stems absorb oxygen gas from the air.

o) ao JUA (o willuisllg CilySaall Gle Jgaanll plidos
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Stomata allow gases to move into and out of the plant.
Coconut seeds disperse by wind.

A flower is a reproductive part of the plant.
There are hairs in the plant’s stem that absorb oxygen gas from
the air.

Plants get air through roots.

Phloem helps the plant to get water from the soil.

Food webs show that many organisms share food resources
within ecosystems.

Fungi and bacteria are considered an example of consumers.

Food web made up of two food chains or more.

Any food chain starts by a consumer.

Energy does not flow between two consumers at the end of a
food chain.

Hawks, crocodiles and sharks are producers.

The relation between Grass and Snake is a "Prey-Predator”
relationship

Birds are tertiary consumers because they eat insects that feed
on plants.

The consumer eaten by another consumer is known as predator.
Dead organisms need energy.

Consumers use carbon dioxide gas for making their food.

Men can eat plants and animals.

The food web will be damaged if the producers died.

Producers and decomposers can make their own food.
The grass-eating animals are the primary consumers in the food
chain.

Plants and humans are different in their way of getting food.

Humans are considered consumers because humans eat plants
and animals.

Birds eat insects that feed on plants, so birds are preys

ﬁoo Jo) o JUA o wiljluiallg wilSaall Gle Jgamall plidas
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words between brackets

Question 03 complete the following sentences using )

Tree trunck and shrubs have..............cceeuee. stems. [climb - wood]

Gases can’t move into or out of the plant’s leaves without
[stomata — xylem]

.......... are responsible for absorption of water and nutrients from the
soil. [Roots — Stems]

.......... carry blood that contains carbon dioxide from the body parts
to the heart [Arteries — Veins]

............... is the tube that carry food from leaves to all the plant parts.
[xylem — phloem]

Grasses and other plants make food through ............ process.
[germination — photosynthesis]

...................... is the potato stems extend underground.
[Tubers — Runners]

From ways of ................... is travelling by wind and floating on water
[seed dispersal — seed germination]

COMCE Op CHOSNONC

Tiny opening in the plant leaves is called ................
[stomata — phloem]

.............. system transports nutrients and oxygen to cells and
organs in human. [Transport — Circulatory]

e L B write scientific term for each of the following )

© @
S

@ Tiny openings on the surface of plant’s leaves that allow ( )
gases move into and out of the plant.

@ The gas that is produced from photosynthesis process. ( )

@ A part of the plant that carries water and nutrients from ( )
the roots to the leaves.

@ A substance that is produced from the plant during ( )
photosynthesis process.

@ The system which is responsible for transporting oxygen ( )

and nutrients through the body.

@ The transportation of seeds from one place to another ( )

Jo) o JUA o wiljluiallg wilSaall Gle Jgamall plidas
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gch:qo:m |
@ The process of producing a new plant. ( )
@ It is found in plant’s leaves that gives them green colour ( )
and absorbs energy from the sunlight.
@ The gas the plant needs to make photosynthesis process. ( )
Small structures in the plant’s roots increase the ( )
absorption of water and nutrients from soil.
® Parts of the plant that responsible for reproduction. ( )
@ The source of energy for the plant to make photosynthesis | )
process.
@ A liquid substance that plants, animals and humans need ( )
to survive.
@ Tiny blood vessels connect arteries to veins. ( )
@ A natural process through which the nutrients found in ( )
dead organisms bodies return back to the ecosystem.
A group of interconnected food chains. ( )
@ An area that contain living organisms and non-living ( )
things
It is a model that shows one linear set of feeding ( )
relationships and energy flow between living organisms.
A group of living organisms that can produce their own food. ( )
@ A living organism that hunted and eaten by another animals. ( )
Question 05 Match J
(A) (B)
The animals that are hunted by
Prey
predators.

are organisms which eat animals

Secondary consumers which eat plants.

Primary consumers are organisms which eat plants.

®@ee®

The animals that are hunted by

scavengers
g predators.
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Question 06 give reason J

Green plants can make their own food

Chlorophyll in plant’s leaves has an important role in photosynthesis
process.
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@ Human needs to eat some animals and plants.

® A plant is placed in a dark place for many days.
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A vulture is placed in an ecosystem that doesn't contain any living
organisms except plants.
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answer the following J

1- Cross out the odd word:

Foxes -lions- tiger - rabbits

@ Eagle - Hawk - Rabbit - Crocodile.
@ Bacteria - Rabbit - mouse - bird.

2- Use the following words to form a food chain:

bird — insect - grass - snake

() Hawk- Grasses - Rabbit - Snake]

(¢) Shark- Algae - sea star- Clam)

3- Study the following food chain than complete
Algae >>> clam >>> sea star >>> shark

Algae are considered as ...........ccccvcrunnnnnen.
is a primary consumer.

AU!M;S

il Gao " 2o G T e N G SN 15 1T Gl B e o)) i

Joy o JUA o wiljliisllg LiljSisll yle Jgmall plisos
."3umw 3geae /| - jusioll” axam JUA o gl OR Code
il aic Ggisall Lialio Ggaa alelo ap @




Answers

science

primary 5 - first term

Question 01 Choose the correct answer J

(D ............. is the main source of energy for all living organisms.

\Xater @ The sun @ Food @ The moon
@ ............. absorb the sunlight that plant needs to make food.

Xylem vessels @ Roots @ Leaves @ Stem
@ The i transports water and nutrients from roots to leave

Stem (®) root hair (©) seed @) flower

@ The system in humans that moves blood in human body is called............

digestive @ respiratory @ Circulatory @ nervous
@ All the following ways help plants to disperse their seeds, except.........

air (®) sunlight
@ water @ Animal bodies
@ Through ............ blood rich in carbon dioxide gas returns back to the heart.
xylem (®) lungs (©) veins (@ arteries
@ From plants having climb stem is ...................
Maple (b) potato (©) pine @ vine
0 WhOut.. &smidin., the plant can’t grow well
insect (®) rocks (© sunlight (d moonlight
@ ............ carry blood rich in oxygen and nutrients from heart to all body cell
Lungs @ Veins @ Phloem vessels @ Arteries
For making food, plants take ................. from the air.
;;bon dioxide ) oxygengas (€) water (@) sugar
® ............ is a process occurring when the plant seed begins to grow and
makes sprouts.

Respiration @ Absorption @ Germination @ Reproduction
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@ Plant produce............ during photosynthesis process.
oon e ® omenamdsen © Sondoe @ gygenand
@ From the materials cannot reach to the plant’s leaves ...............
;aar;bon dighitie @ nutrients @ water @ soil
® .................. stems are from kinds of stems that extend underground.
tuber (®) climb (©) wood @ runner
@ For making photosynthesis process, plants need ....... and ......... from the air.
sunlight — carbon dioxide @ sunlight — oxygen.
@ oxygen — nutrients. @ oxygen — water.
Maple seeds are ...c........-c...... seeds, so they travel by wind.
spiny @ light @ heavy @ smooth
@ To reproduce, flowers produce ..........cccccccernne.
leaves @ stems @ seeds @ roots
Pores on the surface of plant’s leaves that allow gasses to move into and
out of the plant are called .............cccuune
stomata @ xylem @ phloem @ hairs
Through .....tubes, food moves from the leaves to the other parts of the plant.
stomata (b) roots (©) phloem @ xylem
@ Ligr_'lt energy of the sun is changed into .............. energy in plant’s leaves
during photosynthesis process.
sound (b) electric (©) chemical (@) kinetic
@ Plants can make their own food through......... process
breathing (B) photosynthesis (€) digestion (@) reproduction
@ .............. is an area consists of living organisms and non-living organisms.

® Digestive @ Respiratory @ Circulatory
system system system

Ecosystem

A snake is a predator for mice, while snake is considered a prey for .........

rabbits @ frogs @ eagles @ deer
Plants are from......... that get their energy from the sun to produce their food

® ®

non-livin

decomposers (B) consumers  (€) producers @ o g
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Hawks get their energy by eating .............

Plants only (® Animals only

(¢) Plants and animals. (d) Non-living things

Any food chain started with ........c.cccverunnee

producer @ decomposers @ fungi @ consumer
Insects are considered as .................... because they feed on producers.
producers wers () decomposers (d) zﬁ;izcrfgﬁ
\Xhich of the following living organisms considered as a producer?

fungi () pine tree (€) snake @ cow

\Wind plays an important role in dispersing .......... Seeds

Smalllight  (b) Bigheavy  (€) sticky (@) floating

A snake eats a rabbit which eats grass, the snakeis a .............. in the food
chain.

IR | 2N T NG L DL e

TN suiscinnetrnnsunts in food web is consumer.

plants @ predator % decomposers @ algae

\¥’hen a squirrel dies in the desert, its body will.............

grow (b) freeze (e) stay (d) decompose
.................. are organisms that eat other living organisms to get their energy
Producers @ Consumers @ Plants @ Decomposers

.................. is the process which happens to all dead organismes.

Decomposition @ Breathing @ Photosynthesis @ Digestion
Any food chain starts with ...............

insects @ plants @ fungi @ bacteria
All the following are decomposers except...........

grasses @ fungi @ millipeds @ bacteria
................... is a consumer living organism.

Plant @ Grass @ Human @ Bacteria
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........................ always benefit the soil.

Decomposers (B) Consumers  (€) Rabbits (@) Snakes
If there are no predators in an ecosystem, the other consumers will ..........
die @ not affected @ increase @ decrease

\¥/hat is the scientific term for the complex interactions between producers,
consumers, and predators?

A suitable environment (b) Food chain
(© Food web @ The natural habitat

put ( true ) or ( false ) )

@ Tiger, plants and humans need food and water to survive.

x <

@ In initial growth, all seeds need soil. ook
@ Plants need water and air only to grow.

@ Grapes have climb stems.

@ Tomato seeds are spiny, so they can stick to animal fur.

@ Roots anchor the plant in the soil.

@ Burr (plum) seeds are spiny, so they can stick to animal fur.

Roots fix the plant in the soil.
@ Chlorophyll in plant’s root absorbs sunlight.

Veins carry blood rich in oxygen and nutrients.

® Phloem transports glucose from the leaves to the other parts of the
plant.

@ Green plants can grow well in a dark room.

@ Blood moves only in one direction in human’s veins or arteries.

@ Food and oxygen provide the body with the energy needed.

@ Xylem is important for plants to transfer water from plants roots to
leaves.

R R R R R

Plants stems absorb oxygen gas from the air.
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Stomata allow gases to move into and out of the plant.
Coconut seeds disperse by wind.

A flower is a reproductive part of the plant.
There are hairs in the plant’s stem that absorb oxygen gas from the
air.

Plants get air through roots.

Phloem helps the plant to get water from the soil.

Food webs show that many organisms share food resources within
ecosystems.

Fungi and bacteria are considered an example of consumers.

Food web made up of two food chains or more.

Any food chain starts by a consumer.

Energy does not flow between two consumers at the end of a food
chain.

Hawks, crocodiles and sharks are producers.

The relation between Grass and Snake is a "Prey-Predator”
relationship

Birds are tertiary consumers because they eat insects that feed on
plants.

The consumer eaten by another consumer is known as predator.
Dead organisms need energy.

Consumers use carbon dioxide gas for making their food.

Men can eat plants and animals.

The food web will be damaged if the producers died.

Producers and decomposers can make their own food.
The grass-eating animals are the primary consumers in the food chain.
Plants and humans are different in their way of getting food.

Humans are considered consumers because humans eat plants and
animails.

R R R T T T R R R RS
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Birds eat insects that feed on plants, so birds are preys
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primary 5 - first term

complete the following sentences using )
Question 03 words between brackets

Tree trunck and shrubs have ..........ccccuuene. stems. [climb - wood]

Gases can't move into or out of the plant’s leaves without
[stomata — xylem]

.......... are responsible for absorption of water and nutrients from the
soil. [Roots — Stems]

.......... carry blood that contains carbon dioxide from the body parts
to the heart [Arteries — Veins]

............... is the tube that carry food from leaves to all the plant parts.
[xylem — phloem]

Grasses and other plants make food through ............ process.
[germination — photosynthesis]

...................... is the potato stems extend underground.
[Tubers — Runners]

Fromwaysor ... is travelling by wind and floating on water
[seed dispersal — seed germination]

Tiny opening in the plant leaves is called ................
[stomata — phloem]

The auaiss system transports nutrients and oxygen to cells and
organs in human. [Transport — Circulatory]

e L B write scientific term for each of the following )

QSES NG @O0 18, ©-® G

Tiny openings on the surface of plant’s leaves that allow

@ = Stomata
gases move into and out of the plant.

@ The gas that is produced from photosynthesis process. oxygen

@ A part of the plant that carries water and nutrients from Stem

the roots to the leaves.
@ A substance that is produced from the plant during

i I
photosynthesis process. glucose sugar

@ The system which is responsible for transporting oxygen circulatory
and nutrients through the body. system
@ The transportation of seeds from one place to another Seed dispersal
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The animals that are hunted by
predators.

primary 5 - first term
: plant
@ The process of producing a new plant. reproduction
It is found in plant’s leaves that gives them green colour
and absorbs energy from the sunlight. Chiorophyll
@ The gas the plant needs to make photosynthesis process. Carbonadsloxlde
Small structures in the plant’s roots increase the L
i : . Root hairs
absorption of water and nutrients from soil.
@ Parts of the plant that responsible for reproduction. Flowers
@ The source of energy for the plant to make photosynthesis San
process. : T
® A liquid substance that plants, animals and humans need Water
to survive.
@ Tiny blood vessels connect arteries to veins. BI.OOd_
capillaries
@ A natural process through which the nutrients found in decomposition
dead organisms bodies return back to the ecosystem. process
A group of interconnected food chains. food web
® An area that contain living organisms and non-living
things ecosystem
It is a model that shows one linear set of feeding :
. ) sy . food chain
relationships and energy flow between living organisms.
A group of living organisms that can produce their own food. Producers
@ A living organism that hunted and eaten by another animails. preys
Question 05 Match J
(A) (B)
The animals that are hunted by
@ | Prey predators. s
are organisms which eat animals
@ Secondary consumers @ which eat plants. 2-b
@ Primary consumers @ are organisms which eat plants. | 3-c

scavengers
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science

primary 5 - first term

Question 06 give reason J

Green plants can make their own food

Because they make photosynthesis process

Chlorophyll in plant’s leaves has an important role in photosynthesis
process.

Because chlorophyll absorbs the energy of sunlight that helps to make
photosynthesis.

Photosynthesis process is important for plants to survive.
Because it helps the plant to make its own food.

Circulatory system has an important role for human to survive.

Because it transports oxygen and nutrients through blood to all body
parts.

Xylem vessels are important for the plant.
Because they transport water and nutrients to the plant’s leaves.

No life on Earth in the absence of plants.

Because plants produce oxygen gas during photosynthesis process
which is important for all living organisms to breathe.

Root hairs are important for plants.

Because they increase the amount of absorbed water and nutrients
from the soil.

Stem is an important part for the plant.

Because it carries water and nutrients from the roots to the leaves.
Seeds of maple or dandelion plants can disperse through wind easily
Because they are light seeds

Sunlight is important for all living organisms

Because plant absorb sun light to make food through photosynthesis
process

Soil fertility depends on decomposers.
Because decomposer recycles nutrients back into the soil

Plants are producers.

Because plant can make its own food by itself through photosynthesis
process
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primary 5 - first term

@ Decomposers have a great importance

Because it recycles nutrients back into the ecosystem — increase soil
fertility

Human needs to eat some animals and plants.
To get energy and to do activities
@ Consumers depend on producers to get their energy

Because consumers cannot make their own food

@ A plant is placed in a dark place for many days.
The plant can't make photosynthesis process and it will die.

Plants leaves don’t contain chlorophyll.

The plant can’t absorb the energy from sunlight and can’t make
photosynthesis process.

\Xe remove the flowers of a plant.

The plant can’t produce seeds that help it to reproduce.

\We put a seed of bean in wet soil for many days.

It will germinate and grow well.

Plant’s leaves color if plant can’t absorb water from soil for many days.
Plant’s leaves will be pale green or yellow.

Roots of plants don’t have root hairs.

The plants can’t absorb more water and nutrients from the soil.

There is no decomposition process done on the Earth.

Dead bodies will not be decomposed and nutrients will not return back
to the soil

All primary consumers disappear from a certain food chain.

The secondary consumers will move away to another ecosystem to
search for food or they will die

©@ OO ®

A vulture is placed in an ecosystem that doesn’t contain any living
organisms except plants.

The vulture moves away to search for food in another ecosystem

O,

If an organism in an ecosystem disappears.

©

The food web will be affected
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primary 5 - first term

answer the following

1- Cross out the odd word:

Foxes -lions- tiger - rabbits
@ Eagle - Hawk - Rabbit - Crocodile.
@ Bacteria - Rabbit - mouse - bird.

2- Use the following words to form a food chain:

bird — insect - grass - snake
Grass — insect— bird— snake

@ Hawk - Grasses - Rabbit - Snake]
Grass — rabbit — snake— hawk

Shark- Algae - sea star- Clam)
Algae = clam - sea star 2 shark

3- Study the following food chain than complete
Algae >>> clam >>> sea star >>> shark

Algae are considered as producer
® Clam is a primary consumer.

AU!M;.:"
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Rabbits
rabbit

bacteria
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Geel 2000 Language Schools
Theme one: systems

Concept 1.1 Plant needs

Lesson (1)

® A plant is a living organism, like a human being that goes

through different stage of growth.
v, =¥
Axi%f

=39 3 %&Q%
e Needs of the plants to survive.

e 1- water 2- Carbon dioxide from air
e 3-sunlight 4- nutrients from soil

LIGHT

GLUCOSE 4_/
(SUGAR)
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Basic e Sunlight
e \Water

need e Carbon dioxide gas

e Soil

Not basic jeaps
need e Oxygen gas

® Give reason some plants don’t need soil as a basic need
because:
>1-Some plants only grow in the water.

>2-Some plants grow on other plants instead of having
roots in the soil.
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There are differences between human needs and plant
needs to survive:

Human Needs

Plant needs

Similarities

e The water
e The air

® The sunlight

e The water
e The air

® The sunlight

Differences

® He gets food from
plants and
animals.
e He doesn’t need
carbon dioxide

158

water food air

® It can make its own
food by itself.
® /t needs carbon dioxide
to make food.

e

-'..-. }'“'F-
PRl

e Plant makes its own food
® /ts food is a type of sugar that provides the plant with
energy to grow.
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® Plants make their food (sugar) in their leaves

by "photosynthesis" process.
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Worksheet (1)

Q.1- Choose the correct answer:

1- All the following are plant basic needs to make its own food, except.............
a. Water. b. air. c. sunlight. d. rocks.
2- The............ of plant get water and nutrients from the soil.
a. Root. b. stems. c. leaves. d. flowers.
3-Human and other animals need to eat to get.........
a. Oxygen gas. b. energy. c. carbon dioxide gas. d. soil.
4-Water and nutrients are carried from the roots to the leaves through the .........

a. Stem b. soil c. fruits d. flowers
5- In photosynthesis process, plant produces........ to get energy.
a. Oxygen gas. b. sugar. c. carbon dioxide. d. water.

Q.2-Write the scientific term of each of the following:

1. A gas taken from the air by leaves to help the plant to make its own food.

(coreeeerrennnne )

2. A liquid substance that plants, animals and human need to survive.
[ (ST )

3. The process by which plant can make its own food.
(cervreereerannen )

4. The gas which is released from plants during photosynthesis.

(corevrererennnn )

Q.3- Cross out the odd word:

1. Carbon dioxide gas — water — oxygen gas — sunlight. (.............. )

2. Roots- stem- leaves — sunlight. (......................... )
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Q.4- Choose from column (B) what suits it in column (a):

(A) (B)

1.Sunlight a. is absorbed by the roots of the plant.
b. is necessary for plant’s growth.

2.Sail
c. is not a basic need for plant growth.

3.Water d. a gas which is produced during photosynthesis process.
e. a gas which is the plant uses during photosynthesis

4.0xygen process.

....... 2-........ 3-iieeee 4.
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Lesson (2)
Do plants need soil?
Experiment shows how plants grow in the light and in the dark.

»Tools
1. Plastic cup contain potting soil.

-
2. Paper towels. ©) \

3. Plastic plate.

3. Water

5. Metric ruler
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Steps:
1-Germinate some seeds in a wet
paper towel.

2- Place three seeds in the top half of the
paper towel and fold the bottom half
of the towel up so that it covers the
seeds then, place the paper to towel
inside the plastic plate.

3- Plant the other three seeds in the cup that
contains potting soil then, water the seeds.

k

4- Place the plate and the cup in a place where they can get sunlight.

5- Check the growth of seeds over the next
several days. Wet the paper towel and
water the soil as needed.

6- Measure the growth of each seed using the
metric ruler.
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Observations:

e The growth of the seeds placed in the paper towel is similar to that
of the seeds planted in the soil

=5
After 7 days

e The seeds grown without soil would not grow as quickly as the
seeds in the soil.
¢ Conclusions
® The seeds can grow without soil if they water and sun.
® Plants can grow without soil for a while, but finally they need
soil. '

Y

3 Y
e

Y %

After 14 days

Note :
Germination: means that the plant sprouts and begins to grow

from a seed.
10
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Hydroponic system: a place full of water that contains

minerals to grow plants .

Worksheet (2)

Q.1 Look at the opposite figure, then choose the correct answer:
a-This process is called...........

(Germination — photosynthesis — respiration)
b- Seeds of plant will need. ..................... to
complete its growth after many days.

(Soil — water — insects)

Q.2 Look at the following figures then, . /
complete the following sentences :

|y

Figure (A) Figure (B)

1- The seeds in ........... grow faster than those in ..........
2- Seeds in figure (b) should be transferred into ..........
to complete its growth.

11
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Lesson (3)

Photosynthesis process

Process of Photosynthesis

e R

==

) E Sunli‘gj:g

Csooars >

® Photosynthesis process:
It is the process in which plants use the energy in sunlight to
make their own food.
e The plant needs :
1. Sunlight ( sun )
2. Carbon dioxide gas ( air )
3. Water and salts (soil )
The plant products :

1. Oxygen

12
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2. Nutrients ( sugar , starch, fats, and protein )

P_artsf a Plant

Flower
Helps in o
reproduction

Leaf &
Performs
photosynthesis &%

Shoot
system

Fruit *%*
Protects the
seeds

Stem

Supports the
plant

Root

system Root

Absorbs water
and minerals

The structure of plants

1. Leaves:
1. They make food for the plant by photosynthesis process.
2. They contain chlorophyll which gives them their green color.

3. they collect sunlight and get energy from it
The air enters the leaves through the stomata

13
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Stomata:

They are pores that allow air to move into the leaves.

2. Stem :

1. They transport water and nutrients from the root to the leaves through
tubes called xylem.

2. They supports leaves and flowers of the plant.
3. Roots:
1.They absorb water and nutrients from the soil .
2.They fix (anchor) the plant in the soil.

3.Roots contain root hairs : to absorb more water and

nutrients
Root and root hairs
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Xylem Phloem
1. Transfer water and 1.Transport food from leaves to
nutrient from roots to the other parts of the plant.
other plant’s part.

food made by the
leaves to all sections
of the tree.

ﬂ The Phloem carries

Xylem tubes

carry water and

minerals upwards
from the roots.

15
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Worksheet (3)
Q.1: Write the odd word
1. (leaves, stem, eyes, root) [ (SO )
2. ( air, sunlight , water , vegetables ) (cevvereerrunn. )
3. (stem, flower , oxygen , roots) (ceoeveerrrennnn )

Q.2: Put true or false

Without sunlight the green plant will die quickly. ( )
The plant that left in the dark has green leaves. ( )
The plant needs water only to grow up. ( )
Photosynthesis process is so important for plants. ()
Leaves and stem only are the structure of the plant. ( )
The air enters the leaf from xylem. ( )
Stomata is a tiny opening inside the leaf. ( )

© NSO U A WNR

Plant's roots absorb water and nutrients from the soil and transport it to the
other parts of the plant. ( )

Q.3: Write the scientific term

1. Itis the process through which plants use the energy in sunlight to make

their own food. (..........uueeeeeueeeeenn.. )
2. The plant needs that comes from the sun (..................... )
3. Part of the plant that collect sunlight (................... )
4. The air enters the leaf from it [ (SO )
5. Small opining in leaves (cereveererrnrrennene )
6. Vessels in the stem of plants connect the stem with leaves (|..................... )

16
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Q.4: Write the definition Of the following:

1. Photosynthesis process:

Q.5: Complete the following:

(Parts of a PlantD

Label the parts of the plant using the vword bank.

| root flower leaf fruic stem I

17
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Lesson (4 )

Parts of plants

® There are many forms of stems.

1. Wood stem such as tree trunks and shrubs.

4. Tubers that stem
extend underground
such as potato plant.

18
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5. Runners that stem extend above and along the ground such as
strawberry

There are two kinds of leaves:

1. Narrow leaves: that look like needles, such as pine trees.

oo . — AL

N o A~ 3 Yy A ‘

19
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2. Flat, wide leaves.

. \
® Give a reason for:

The life on Earth without plants would be impossible?
Because during photosynthesis process plants produce oxygen gas

that animals and people need to breathe.

Worksheet (4)

Q.1 Complete :

1. Human and animals depend on plants as a source of ..............
2. Plants absorb.............., and .............. to make its food

3. Nutrients and water move up through the stem of the plant through the
vessels called..........

4. Plants need............ energy to make food.

L is one of the important functions of the roots.

6. The stem of most flowers is......................

7. The stem of the plants that extend under the ground is called........................

8. Pine tree leaves are.......................

20
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Q.2 Put (true) or (false):

1. Plant leaves contain openings. ( )

2. Tubers extend on the ground and help in the formation of new plants. (

3. The photosynthesis process occurs inside the leaves of plants ()

4. The roots make the food for the plant. ( )

5. Without plants, life on earth is impossible. ( )

6. Xylem and phloem differ in plant functions. ( )

7. Sunlight is the necessary source of energy for plants to make their own

food. ( )

21
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Lesson (5)
Comparing plant and human systems
The human circulatory system consists of:
The heart and blood vessels (arteries and veins).

A

It is the system that transports blood and other fluids
throughout the body.

Arteries: Artery ——».

Carry blood that is rich with
oxygen and nutrients (glucose)
from the heart to the body cells so
that the body can grow.

Veins:

Return the blood that carries
carbon dioxide and is low in
nutrients and oxygen back to the heart, then to the lungs where the
blood carries oxygen again.

an circulatory system

22
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Plant transport system Human circulatory system

Similarities ® Both have system of vessels to transport water,
nutrients and gases.
® Both have one- way vessels.

Differences [consists of : -it consists of :

e Xylem tubes carry water |® Arteries carry blood rich

and nutrients from the with oxygen and nutrients
roots to the leaves. (glucose) from the heart to
all body parts.

® Phloem tubes carry sugars ® Veins carry blood that
from the leaves to all plant | contains carbon dioxide
parts. from all body parts
back to the heart.

XYLEM AND PHLOEM

23
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Plant food

*» During photosynthesis process, light energy of the sun is transformed
into chemical energy that is found in glucose.
During photosynthesis process, the plant also produces oxygen and
water which are released into the air.
*» Flowers are the reproductive parts of many plants.

Flowers and seeds

Function of the plant’s flowers:

> Flowers produce seeds for the plant that help the plant to
reproduce.

>When seeds receive air, water and the correct temperature, they
can grow into a new plant.
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Worksheets (5)

Q1- Complete the following sentences:

1. Plants make their energy in the form of.......... sugar during
photosynthesis process.

2. Air enters plants through stomata on their...... while it enters the
human body througah.......... and...........

6. The plant makes sugar in its.............. during photosynthesis process.

7. Transport system in the plant consists of two types of vessels which

8. Arteries carry oxygen and nutrients from the .................. to all body
parts, while......... in plant’s stem carry water from the.......... to the
leaves.

9. In plant’s leaves,.......... energy is converted into......... energy during

photosynthesis process.
10. Flowers of the plant produce............ that help it to.............

11. There are two types of vessels in the human circulatory system
which are.......... And........

25



Geel 2000 Language Schools

0Q.2- Give reasons for:

1. Flowers are important parts for the plant.

2. Circulatory system has an important role for human to survive.

3. Xylem in plant is a one-way vessel.

Lesson (6)
Seed dispersal

It is a process that seeds are transported from one place to another.

e \Ways of seed dispersal in nature:
1. Floating on water or rivers or lakes.
2. Traveling by wind.
3. Sticking to animal’s fur or human clothes.
4. Being eaten by animals and comes out with their stool.

26
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Examples:
e AN

Burdock seeds

—

Maple seeds

Apple seeds

Ways of seeds dispersal

Seeds

Floating on water

Coconut seed

Traveling by wind

Maple seeds- dandelion seeds
(both of them are light seeds)

Sticking to animal fur

Burdock seeds (have spines)

Being eaten by animals

Tomato seeds- apple seeds

27
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Concept (1.2)
Lesson (1)

Ecosystem:

It is an area (or community) that includes living organisms and
non- living things that interact with each other.

Living organisms as: plants, animals and humans

Non-living things as: air soil and water

Example of ecosystem: as ocean, a rainforest, a desert or a sea

. ~ o », J -

The interaction that present in an ecosystem occurs between

animals and plants only and not between all the components.

How does energy flow through an ecosystem?

28
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Energy flow through an ecosystem from plants to animals and

between animals when they eat each other, then when living organisms die, their
energy is returned to the soil.

® Hawks in ecosystem

Important notes for Hawks

e Hawks get energy from food.

e Hawks eat different types of animals such as, snakes, mice, fish, birds,
squirrels, rabbits and other small ground animals.

e Hawks do not eat plants, but they eat animals who eat plants, so they also

depend on plants for energy.

There are few predators that can attack hawks such as
eagles or other hawks.

e When a hawk dies, it decomposes and its energy is returned to the soil.

e Energy Flow in Ecosystems
A healthy ecosystem is a community that provides food, water and shelter to all
living organisms that live in it.

29
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What are the type of food that living organism depends on :

1-Caracal feed onrat | 2-Rabbit feed on grass td feed on worm or
(mice) terflies

e There is a relationship between sunlight and energy that we get from the
food.
® Sun is the main source of energy in all ecosystem.
e Animals need energy that comes from eating plants and other animals, as
they cannot produce their own food.

Give reason : sun is the main source of energy in all ecosystem.

-The light energy which comes from the sun is converted into chemical energy in a
form of food that humans and animals eat to get energy .

e Food is energy

30
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JHuman gets energy during the day from

® The food we eat
e The oxygen we breathe

,Sun is the primary source of energy for all organisms

Plants Animals
During photosynthesis process, HMnimals including humans
the sunlight converts carbon cannot make their own food
dioxide and water into glucose #They get energy from the

inside the plant leaves. _ _ :
Pifferent animals can get their

Note:

Carbon dioxide :is a gas present in air Food by:

and necessary for the formation of Eating plants only.

plant food. Eating other animals that eat plants.

environment in which they live.

Eating both plants and animals.

31
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Worksheet (1)

0.1 Write the scientific term of each of the following:

1. A community that contains living organisms and nonliving things.

5. A type of living organisms that can produce its own food by
Absorbing sunlight. (ceeernneeeeeereneeressneneesnns )

6. The sugar that is formed inside plants during photosynthesis
Process. (ceeernnerensereneecessnnenennes )

7. The gas that is present in air and necessary for the formation of plant food.

9. Living organisms that both humans and animals need to
Survive. (ceeernneeeerenennerineneeennns )

Q.2 Give reasons for:

1. Human needs to eat some animals and plants
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Lesson (2)

Food chains:

e Living organisms eat food to get the energy to survive.
e Living organisms feed on other organisms, so energy passes between
them.
e Living organisms are classified into three groups according to their way
of feeding, which are:
(1) Producers.

(2) Consumers.

(3) Decomposers.

1. Producers:

They are a group of living organisms that can make their own food .
=Nearly all of the producers on the Earth are plants.

2. Consumers :
They are living organisms that eat other organisms to get
energy .

33
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Primary Secondary Tertiary
consumers consumers consumers
They are animals They are animals that eat | They are animals that
that eat plants the primary consumers like | eat the secondary
such as many birds are secondary consumers like large
insects . consumers, because they | meat-eating animals like
eat insects and other crocodiles.
organisms that eat plants.

3. Decomposers

They are organisms that carry out the process of decomposition by breaking
down or decaying dead organisms.

Examples: fungi, bacteria, worms and millipedes

Earthworm I

Fungi

A

Bacteria

34
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Give reason : worms and millipedes are

considered as decomposers .

- Because they eat dead matter and produce wastes which
increase the soil fertility .

Pecomposition: it is the process through which decomposers can
recycle nutrients into the soil.

e Food chain
It is a model that shows one linear set of feeding relationships and
energy flow between living organisms.

(- The Sun emits
energy. -
- The hawk obtains energy
by eating the snake.

S -~ Plants make enetgy-rid\
: I‘ood usmg sunligm.#a

b SR A
x

N The mouse obm]ns —F 1% : ¥ .
- -energy by eating \/ - . . - R A ‘ The snake obtains energy
- theplam. S S e - ~. = by eating the mouse.

. S

This figure shows the recycling nutrients back into the soil

e The first link in the food chain is plant ( producer).
Because it uses the energy from the Sun to produce its own food.
e The second link in the food chain is mouse (primary consumer).
Because it eats plant,
e S The snake is considered as a (secondary consumer).
Because it eats mouse,
35
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e Then the eagle is considered as a tertiary consumer.
Because it eats snake.

e In the final the eagle dies, it decomposes by decomposers and its energy
is returned to the soil which makes the food chain continuity.

ePredator and prey
In the previous food chain, we can observe that

5

he hawk and snake are "Predators”, because they hunt other animals.

Xhe snake and the mouse are "Preys", because they are hunted by other
animals for food.

So, both predators and preys pass food and energy through the food chain.

Prey:

Is any animal that is hunted and eaten by another animal.

""Predator

Is any consumer that hunts and eats another animal .

Worksheet (2)
Complete the following sentences:
1. Living organisms include................. , Consumers and decomposers.
2. Producers can make.................. Sugar which is rich in energy
through.............. process.
3. Decomposers and .........cccceeeeennee. depend on producers to get their
energy.
4. The most common producers are................

36



e IS
Geel 2000 Language Schools @%omo;g
5. The light energy of the Sun cannot flow directly to
consumers and...................
6. In a food chain, the energy flows from................ Consumer to a
secondary consumer
7. Decomposers are responsible for ...... .. nutrients to the soil, that are

needed for plants growth.

2- What happens if .?
1. All primary consumers disappear from a certain food chain.
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Lesson (3)

e FOOD CHAIN

Primary
Consumer,

ﬁ

Secondary

Frg ' \
Wass FOOd Chain Snake

Producer

Grasshopper

Tertiary
Consumer

Consumer

e FOOD WEB:

e It is a model that shows many different feeding relationships
among living organisms

e The ways in which many food chains interact within an
ecosystem form a food web.
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WORKSHEET (3)

1 Choose the correct answer

1. All the following are types of food for primary consumers, except

a. grasses. b. seeds. c. fruits. d. eagles.

2. A hawk can eat................. when snakes are completely disappear from an ecosystem.

a. grasses b. grasshoppers c. birds d. leaves

3. It is better for any predator to depend on..............ccccuveeuueuneee. to get its energy and

survive.

a. one species of consumers only b. many species of consumers

c. one species of decomposers only d. many species of decomposers

4. All types of plants are similar in all the following characters, except

a. are able to make photosynthesis process. b. are eaten by primary consumers.

C. can feed on predators. d. live in different types of ecosystems
5. Humanisa.....cccceereeccnnnenees living organism.

a. producer b.consumer c. decomposer d. predator

6. Secondary consumers can eat only..................

a. decomposers. b. producers.

c. Primary consumers. d. tertiary consumers.
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Conclusion

® Food web is a model that describes energy flow and feeding
interactions between living organisms in an ecosystem.

® Food webs show that different organisms in an ecosystem are
connected to allow energy to pass between them to survive, where:

® Producers are eaten by some consumers.

® Some consumers are eaten by other consumers.

e Some consumers may eat the same producer or prey.
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Worksheet (4)
1.Complete the following sentences using the words below:
(Primary consumers - food web - food)
1. We cannot make a food web, if we don't know the types of.............. that the

animals eat.
2. The interconnected food chains are known as................
3. An eagle can eat rabbits and mice, which are considered as...............

2. Study the opposite food web, then choose the correct answer:

1. This food web starts with

Which are producers.

a. human

b. plant Plant

c. animal (A)

d. animal (B) l

2. Human can get energy from.......... An|ma| (A) ‘

a. plant and animal (B).
b. animal (A) only. Animal (B) ‘ p—

c. plant only.

d. plant and animal (A).
3. Energy cannot flow directly from the producer to..................
a. human and animal (A). b. human and animal (B).

C. animal (B) only. d. animal (A) only.
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4. The living organism that gets energy directly and indirectly from the producer,

[Seueiivviiviirivrerreennannes
a. animal (A). b. animal (B).
c. plant. d. human.
e is considered as a primary and a secondary consumer at the same time.
a. Plant b. Human
c. Animal (A) d. Animal (B)

Q3.Study the Following figure, then choose the correct answer below

PN
LN g

sun Plant Grasshopper Frog Snake
Which of the following, is necessary for survival of all living organisms?.......
a. Plant.  b. The Sun. c. Grasshopper. d. Snake.
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Question 1 Choose the correct answer

1--The.......... of plant Absorb water and nutrients from the soil.
a.roots b.stems c.leaves d. flowers

2- Humans and other animals need to eat to get ...............
a-oxygen b-energy  c- carbon dioxide gas d-soil

C RO and .....cco.eoeee. are from the plant needs that help
it make photosynthesis

a-oxygen-water b-sunlight-carbon dioxide c-nutrients-oxygen

4-the plant produces ............... through photosynthesis process
that gives it the needed energy to grow

a-oxygen gas b-water c-carbon dioxide d-sugar
SRR \VE) S plant has climb stem

a-potato b-tomato c-vine d-pine
RSO o8 A can make their own food

a-plants only b-animals only c-plants and animals

7-food materials are transported from the leaves to other parts
of the plant through ...........

a-xylem b-phloem c-chlorophyl d-stomata
S ORI in the leaves allow air to enter the plant
a-xylem b-phloem c-stomata d-chlorophyll
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9-maple seeds travel by wind because they are ................

a-light seeds  b-spiny seeds  c-heavy seeds d-smooth
seeds

10- from the ways of seed dispersal is floating on water as in

a-Burr seeds b-tomato seeds
c-dandelion seeds d-coconut seeds

11-The kind of stems that extend underground are called

a. climb stems b.tubers c.runners  d.wood stems.
12-Many insects are considered as

a. producers. b. decomposers. c. primary consumers.
13-The green plants can make their own food through
a.roots. b. leaves. c. stems. d flowers.

14-Any food chain started with

a.insect b. plants. c. fungi. d-bacteria.

15- All of the following materials can reach the plant’s leaves,
except

a. nutrients b. carbon dioxide gas.  c. water. d. soil

16-A snake is a predator for mice, while snake is considered as
a prey for

a. rabbit b. frog c. eagle d- deer
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17-In the presence of Sun and water, the seeds can germinate
at the beginning of growth without the need of

a. soil b. rocks c.insects d. dry paper towel

18-Which of the following living organisms can make their own
food?

a Hawks b. Mice c. Pine trees d. Caracals

19-In plant’s leaves, light energy is converted
iNtO......uun...n. energy during photosynthesis.

a. sound b. electric c. chemical d. kinetic

20-When the plant seed begins to grow and makes sprouts this
process is called

a. respiration b. germination c. absorption. d. reproduction.
21-Decomposers always.......... the soil.
a. pollute b.damage c.benefit d. harm

22-The primary source of energy for all living organisms on the
Earth, is

a. the Sun. b. green plants.  C. glucose sugar.
23-Plants take.................. from the air to make its own food,

a. water b.oxygengas c.carbon dioxide gas d. sugar
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24-A community that includes living organisms and non-living
things is known as

a. digestive system. b. respiratory system. c. ecosystem.
25- Hawks get their energy by eating ..................

a-plants only b-animals only c-plants and animals
26-caracal obtains its energy by eating .......................
a-shark b-grass c-mice d-butterfly

27-plants can make their own food through ........................
process

a-breathing b-photosynthesis c-reproduction

28-leaves of green plants absorb sunlight to combine water
with ........ to produce their own food

a-oxygen gas b-soil c-carbon dioxide gas  d-roots

29-which of the following living organisms can make their own
food

a-hawks b-mice c-pine trees d-caracals

30-all the following organisms are consumers, except ............

a-deer b- crocodiles  c-rabbits d-millipedes
31-humanis s ...cccoeeereeeevnnnnnnne. living organism
a-producer b-consumer c-decomposer d-predator
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32-food web show interactions between ........................
a-few nonliving things b-many nonliving things
c-few living organisms d-many living organisms

33-all the following ways help plants to disperse their seeds,

a-water b-air c-animal bodies d-sunlight
34-wind play an important role in dispersing ............. seeds

a-small light b-big heavy c-sticky d-floating
Question 2 put true or false

1- Water and carbon dioxide are absorbed by plant’s root to
help the plant to grow. ( )

2- Plants need water and air only to grow ( )

3- Plant’s stem has hairs that absorb oxygen gas from the air.
( )

4- Birds are secondary consumers because they eat insects
that feed on plants.( )

5- Phloem transports food material from the leaves to other
parts of the plant. ( )

6- All plants need the same way to disperse their seeds ( )

7- There is no interaction between the components of an
ecosystem ( )

8- All living organisms don’t need energy to survive ()

9- A desert food chain doesn’t contain any type of fish. ( )

10- Photosynthesis process taklglsEE aggg the plant roots. ( )
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12-

13-
14-
15-

16-
17-
18-

19-
20-

21-
22-

23-
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The first link in any food chain is a consumer ( )
Producers and consumers use carbon dioxide gas for
making their food ( )

Plants and humans are similar in the way of getting food ()
Human can eat plants and animals. ( )

Arteries are vessels in human circulatory system that carry
blood rich in carbon dioxide gas ( )

The plant is fixed in the soil by the help of it roots ( )
Green plants can grow in dark room ()

Recycling nutrients back to the ecosystem is the main
function of the consumers ( )

Xylem helps the plant to get water from the soil. ( )
Xylem is important for plants to transfer water from roots
to leaves ( )

Tomato seeds are light so they can disperse through air ( )
A hawk can get directly its needed energy by eating
beetles( )

Food web is the interconnected food chains that shows
many different feeding relationships ( )
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Question 3 Write the scientific term

11-

12-

13-
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The process by which a plant can make its own food using
the energy of sunlight. ( )

A part of the plant that fixes it in the soil. ( )
A substance that is produced from the plant during
photosynthesis process and provides it with its needed

energy. ( )

The consumer who eats another animal. | )
Narrow holes spread on the surface of plant’s leaves that
allow gases to come in and out the plant. ( )

The gas that is produced from photosynthesis process.

( )

A part of the plant that carries water and nutrients from

the roots to leaves ( )
The gas that is present in air and necessary for the
formation of plant food ( )

A group of living organisms that can live on decaying dead
organisms ( )
The process that takes place inside plants through which

we can get oxygen. ( )
It is found in plant’s leaves that gives them green color and
absorbs energy from the sunlight ( )

Parts of the plant where sunlight allows carbon dioxide to
combine with water during photosynthesis process.

( )

the process of producing new plants. ( )
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14- A group of living organisms that can produce their own
food. ( )
15- They are consumers which feed on secondary consumers.

( )

16- The animal that is eaten by another animal. ( )
17- A place that provides food, water and shelter to all living
organisms that live in it ( )

Question 4 Give reason

1- Photosynthesis process is important for plants to survive

2- Chlorophyll in plant’s leaves has an important role in
photosynthesis process

3- Human needs to eat some animals and plants

4- Xylem vessels are important for the plants

5- Seeds of maple of dandelion plants can disperse through
wind easily

6- Sunlight is important for all living organisms

Question 5 Complete the following sentences:

1- The food of plantis a type of................. which is made in
their....coooevvveieeneenn, by photosynthesis process.

2- There are tiny holes on the plant’s leaves called
...................... that allow gases to move into and out of the
plant.

3- The stem carries water and nutrients from the
...................... to the .............. of the plant
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An area that provides food, water and shelter to all living
organisms which live in it, is known as ...................
Without.................. in the leaves of plants, gases can’t
move in or out of the plant.

Plant produce ..................... and ......coeeeeeee during
photosynthesis process

In plants leaves, .........c.uuue..... energy is converted into
.............. energy during photosynthesis process
Both.............. organisms and.............. organisms cannot
produce their own food.

Inside the green plant, sunlight allows carbon dioxide gas

to combine with .............. that is absorbed from the soil by
plant’s ...............

Some seeds can be transported from one place to another
by floating on water as ............... seeds or traveling by
wind as .....ccceee...ee. seeds

There are three types of vessels in the human circulatory
system which are .....cccccoeevvvvieeninn, , ANAL and

In any food chain, plants are considered as........................
Human can eat producers and ...........cccceeeveveeennne,
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Question 6: What happens iF/ to

1- Plant’s leaves don’t contain chlorophyll

2- Plants have no stems

3- We put a seed of bean in wet soil for many days

4- A plantis placed in a dark place for many days.

5- Plants can’t produce glucose sugar during photosynthesis
process

6- We remove the flowers of a plant

7- All primary consumers disappear from a certain food chain

Question 7 cross the odd word

1- Carbon dioxide gas - Water - Oxygen gas - Sunlight.
2- Roots - Stems - Leaves — Sunlight

Question 8: Answer the following questions

1-Form the food chain using the following organisms

a) Grass b) Rat c) Hawk d) Snake
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Model answers

Q1

1-a, 2-b, 3-b, 4-d, 5-c, 6-a, 7-b, 8-c, 9-a, 10-d, 11-b, 12-c, 13-b,
14-b, 15-d, 16-c, 17-a, 18-c, 19-c, 20-b, 21-c, 22-3, 23-c, 24-c,
25-b, 26-c, 27-b, 28-c, 29-c, 30-d, 31-b, 32-d, 33-d, 34-a

Q2

1-F, 2-F, 3-F, 4-T, 5-T, 6-F, 7-F, 8-F, 9-T, 10-F, 11-F, 12-F, 13-F,
14-T, 15-F, 16-T, 17-F, 18-F, 19-F, 20-T, 21-F, 22-F, 23-T

Q3
1- photosynthesis process, 2-Root, 3-Sugar (glucose),

4-predator, 5-stomata, 6-oxygen gas, 7-stem,

8-carbon dioxide gas, 9-decomposers,

10-photosynthesis process, 11-chlorophyl, 12-leaves,

13-plant reproduction, "14-producers, 15-primary consumers,

16-prey, 17-ecosystem
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Q4

1- Because it helps the plant to make its own food

2- Because it absorbs the sunlight to make photosynthesis
process and gives the leaf its green color

3-To get energy from food to do different activities because
they cannot make their own food

4- Because they transport water and nutrient from roots to
leaves

5- Because they are light seeds

6- Because it is absorbed by plants to make their own food
then animals and humans eat these plants

Q5
1- Sugar-leaves, 2-stomata, 3-roots-leaves, 4-ecosystems
5-stomata, 6-sugar(glucose)-oxygen, 7-light-chemical
8-consumers-decomposers, 9-water-roots,
10-coconut-maple, 11-arteries-veins-blood capillaries, 12-soil

13-producers, 14-consumers
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Q6

1- Plants cannot absorb the sun light and cannot make
photosynthesis process so the leaves will not be green

2- Water and nutrients will not be carried from roots to
leaves

3- At the beginning it will germinate and grow but later it will
die

4- plants cannot absorb sunlight to make photosynthesis
process and the leaves will be yellow/pale green

5- Plants cannot get energy to grow and survive

6- Plants cannot produce seeds for reproduction / Plants
cannot reproduce

7- The secondary consumers will move to another
ecosystem, or they will die

Q7
1-Oxygen gas
2-sunlight
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Give Reason

1-

2-
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Roots have important role in the photosynthesis process
Because roots absorb water and nutrients from the soil
Photosynthesis process is important for plants to survive
Because it helps the plant to make its own food

Green plants can make their own food

Because they can make photosynthesis process

The presence of stomata on the surface of plant’s leaves
To allow gases to move into and out of the plant

Xylem vessels are important for the plant

Because they transport water and nutrient from roots to
leaves

There is no life on Earth in the absence of plants
Because plants produce oxygen gas during photosynthesis
process which is important for all living organisms to survive
Chlorophyll in plant’s leaves has an important role in the
photosynthesis process

Because it absorbs the sunlight to make photosynthesis
process and gives the leaf its green color

The presence of hairlike structure in plant’s roots

To increase the amount of the absorbed water

Flowers are important parts for the plant

Because they produce seeds for the plant reproduction
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Circulatory system has an important role for human to
survive

Because it transports blood through the body

Xylem in plant is a one-way vessel

Because it carries water and nutrients from roots to leaves in
one direction

Seeds dispersal may take place by animal in two different
ways

Because seeds can stick to animal fur or being eaten by
animals and come out with their stool

Seeds of maple or dandelion plants can disperse through
wind easily

Because they are light seeds

Burdock seed can stick to animal fur

Because they have spines

Human or animals needs to eat some animal and plants
To get energy from food to do different activities because
they cannot make their own food

Sunlight is important for all living organisms

Because it is absorbed by plants to make their own food then
animals and humans eat these plants

Consumers depend on producers to get their energy
Because they cannot make their own food
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18- Soil fertility depends on decomposers
Because they return the nutrients of dead organisms back to
the soil

19- Sticky seed of some plants can stick to human clothes or an
animal’s body
To disperse their seeds to other places
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What happens if

1- Plants have no stem
Water and nutrients will not be carried from roots to leaves
2- Plants can’t get carbon dioxide gas from air
Plants cannot make photosynthesis process so cannot make
their own food
3- we put a green plant in a dark room for many days
plants cannot absorb sunlight to make photosynthesis
process and the leaves will be yellow/pale green
4- we put a seed of bean in a wet soil
It will germinate and grow well
5- we put a bean seed in a wet paper towel for more than two
months
At the beginning it will germinate and grow but later it will
die
6- stomata of a plant get closed for a long time
Gases cannot move into or out the plant leaves so plants will
die
7- Plant’s leaves don’t contain chlorophyll
Plants cannot absorb the sun light and cannot make
photosynthesis process so the leaves will not be green
8- The plant doesn’t have roots
The plant cannot absorb water and nutrients from the soil
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9- The plant stops making photosynthesis process for several
days
It cannot make its own food and it will die

10- Plants can’t produce glucose sugar during the photosynthesis
process
Plants cannot get energy to grow and survive

11- Humans don’t have circulatory system
Human cannot transport blood through the body

12- We remove the flowers of a plant
Plants cannot produce seeds for reproduction / Plants cannot
reproduce

13- There is no sunlight reaches the Earth’s surface
The plants cannot make their own food through the
photosynthesis process

14- A hawk is placed in an ecosystem that doesn’t contain any
living organisms except plants
It will move to another ecosystem, or it will die

15- All primary consumers disappear from a certain food chain
The secondary consumers will move to another ecosystem, or
they will die

16- All types of decomposers are absent from an ecosystem
Dead animals will not be decomposed, and their nutrients will
not return to the soil
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October Revision

(2022-2023)

Concept 1
Plant Needs
 What happens when you plant a seed?

- It grows until it becomes a mature plant.

¢ The essential conditions that plants need to grow and to perform all vital
processes:
- Water
- Air
- Sunlight
- Potting soil
e Most plants consist of:

- Roots, stems, leaves, and sometimes flowers or fruits.

o Leaves:

absorb light energy (from the sun) and carbon
dioxide gas (from air).

e Stem:

transports water and nutrients to all parts of
the plant.

o Roots:

absorb water and nutrients from the soil.

Fifth Primary - Second Term
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There are differences between human needs and plant needs to survive:

o Human Needs:

e The human body needs water and
food daily to be healthy and to
survive.

e Plants grow from seedlings into
mature trees in the presence of:
1. water 2. sunlight
3. air 4. potting soil

Trees and other plants make food through photosynthesis by:

- Absorb water.

o Leaves:

- Absorb carbon dioxide gas from air.

- Absorb sunlight which enables carbon dioxide ‘
to combine with water to produce sugar which '
therefore provides plants with the energy needed
for growth.
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The structure of the plant:
» Roots
Although there are differences in plant shapes they have similar parts, such as roots.

e The importance of roots:
1. Fixing the plant in the soil.
2. Absorbing water and nutrients from the soil to make food.

Root Hairs:

e Roots contain root hairs that increase the amount of the
absorbed water and minerals.
» What is the importance of root hairs?
1. Increasing the amount of water and nutrients absorbed
by the plant.

2. Transporting nutrients from the soil to the root.

1. Transports nutrients and water up through tubes to all plant parts.
2. Supports all the plant parts.

e Stems have different shapes

o Wooden Stem:

Such as: Tree trunks and shrubs.

e Upright stem: -

Such as: Most flowers

i -
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o Tubers:

Such as: Potato plants.

(Extend underground)

° Climbing Stem:

Such as: Grape plants.

° Runner Stem:

Such as: Strawberry plants which run along the
ground and help in the formation of new plants.

e Leaves: There are different types of leaves.

— 1. Narrow small leaves "“like needles” —

Such as: Leaves of iné trees.

Pu 2. Flat and wide leaves =

Such as: Banana plant leaves.

Transportation System in Plant

Consists of: 1. Xylem 2. Phloem
These vessels transport nutrients in one direction between the plant parts.

Xylem

Phloem

- Xylem tubes allow water and nutrients
to travel upwards through the plant
from the roots to the leaves to make
glucose.,

- The phloem carries the glucose
downwards from the leaves to the roots

and other growing parts of the plant to
get energy.
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Seeds dispersal is the transfer of seeds from one place to another.

Methods of seeds

dispersal LA

By Water

By Air

By the
movement of
living organisms

Animals transport seeds to ~ Burdock seeds (Attach to the
other places clothes of humans or animals’ fur)

By animals
eating seeds

Tomato seeds
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Concept 2
Energy Flow in the Ecosystem

The ecosystem: is @ community that contains both living organisms and non-living
things.

e Examples of ecosystems:

— Deserts o — Rainforests ==

— Seas and Oceans == p— Tundra by

o Food chains consist of:

1. Producers:

. from the soil.
Order: They are in the first level of the food chain.
“Any food chain must start with producers”

« Example: Plants use the energy from sunlight to make their food.
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2. Consumers:

Definition: They are organisms that depend on producers to get their food
directly or indirectly.

- They are divided according to the kind of food and their order in the food
chain.

Order:

« Primary consumer organisms:

- They are in the second level in the food chain.
- They are the animals that directly feed on plants.
Such as: Herbivores "Grass Eaters”

Insects - Rabbits - Mice - Deer - Cows - Sheep - Goats

e Secondary consumer organisms:

- They are the animals that feed on the primary consumers.
Such as:

Predatory Birds - Frogs - Snakes - Cats

» Tertiary consumer organisms:

- They are the animals that feed on the secondary
consumers,

- They are in the third level in the food chain.

Such as:

Carnivores; Crocodiles - Lions - Tigers - Hawks
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¢ Most living organisms are a part of many food chains.
"interconnected food chains”
Food webs:

Food webs are several interconnected food chains which interact with each other.

- The following figure shows a food web between several food chains:
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o Comparison between scavengers and decomposers:

cockroaches, and
houseflies

L 5

Comparison Scavengers Decomposers
Definition |- Animals that eat - Small living organisms which complete
dead plants and the process of the decomposition of dead
animals. organisms and consume the remains of
dead plants and animals.
Examples |Vultures, hyenas, crabs | Snails, slugs, earth worms, fungi, and bacteria

P A —

Function

: They break food
down into smaller
pieces.

- They decompose dead plants and

animals
into nutrients that can be returned to the
ecosystem.

The decomposition process:
- It is a recycling process that occurs in nature and releases nutrients back into the

environment.

Fifth Primary - Second Term ¢ 9
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Elshater Evaluation

Q1 Choose the correct answer:

1. Sugar supplies plants with the energy they need for ... ..o

(movement - growth)

2. Stomata are found in the plant ..o (leaves - roots)
3. The stem of the grape plantisa .................stem. (wooden - climbing)
4. The ..........is[are one of the components of the human circulatory system.

(stomach - blood vessels)
5. Primary consumers feed on ... s (plants - animals)
6. . @re an example of decomposing organisms.
(Corn plants - Mushrooms)
7. When an animal disappears from an ecosystem, ...
(the ecosystem is not affected - the ecosystem is disturbed)
8. The predator is the animalin ... relationtothe prey.

(strong- weak)

Q2 Choose from column (A) what suits column (B):

10

Column (A) | Column (B)
1. Sheep get energy from () feeding on the flesh of prey.
2. Lions get energy from () feeding on animals and plants.
3. Bacteria get energy from () feeding on herbs.

4. Humans obtain their energy from () feeding on the remains of dead

organisms.
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Q3 Write the scientific term:

1. Hair-like growths found on the roots of plants. § e )
2. The stem of the plant that extends underground. T )
3. Tubes responsible for transporting nutrients and oxygen to the body’s organs

and cells. T r— )

Q4 Put a (v) for the correct statement and a (x) for the incorrect statement:

1. Nutrients ascend through the xylem vessels of the plant stem to the roots. ()
2. Xylem vessels and phloem are both of the most important parts of the plant. ()
3. Animals do not benefit from the oxygen that plants release during
photosynthesis. ()
4. Plants benefit from the energy they get from food in the production of seeds. ( )

5. An ecosystem consists of non-living elements, such as water, and living organisms,

such as plants. ()
6. Decomposers are located in the middle of the food chain. ()
7. Producer organisms may be plants or animals. ()
8. Scavengers feed on the remains of dead plants and animals. ()

Q5 Complete the following diagram of the photosynthesis process:

1.gas —_— - T—— gas
2.energy —_—
K > B D —
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Q6 Look closely at the food chain that ends with the falcon, then answer:

1. What is the producer in this food chain?

2. Name the consumers in this food chain.

3. What do the arrows in this food chain show?

Q7 Choose the correct answer:

1. Leavesof a pinetreeare ...

a line b needle
¢ rectangular d circular
2. Chlorophyll helps plantsin ...
a reproduction b breathing
¢ pollen production d food production
3 e isf are from the secondary products of plants.
a Oxygen gas b Fats
¢ Carbohydrates d Sugars

4, Dandelion seeds arespread by ...
a animals b sail
c air d water
5. All living things get energy from ...
a birds b plants
C insects d the sun
6. Food chains represent ... s
a everything that an animal feeds on
b all the animals in the environment
¢ food relationships between living organisms
d the number of plants that the animal feeds on
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7 .. @re organisms that break food into smaller pieces.
a Cockroaches b Mollusks
¢ Earthworms d Snails

8. Decomposers are living organismsthat ...
decompose parts of dead plants and animals
b decompose parts of dead plants only

¢ decompose parts of dead animals only

d produce their own food
Q8 Which of the following does not belong to the group? Say why.
(water - sunlight - carbon dioxide - glucose)
Q9 From the following figure:
1. The worm in the picture is the

(predator - prey)
2. The bird in the picture is the

(predator - prey)
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A) Choose the correct answer:

1. Sugar is produced in the plant through the combination of ..............
(carbon dioxide with water - oxygen with water)
2. Plant seeds are spread by ... :
(preventing the crowding of plant roots - growing plants in new areas)
3. Decomposers are found in the ... level of the food chain. (first - last)
4, If a fox devours a rabbit, then the animal that represents the prey is the
(fox - rabbit)

B) Write the scientific term that each expression refers to:
1. A process in which green plants make food, and oxygen gas is released.

. — )
2. Blood vessels that carry blood rich in oxygen and glucose from the heart to
the organs of the body. (T — )

A) Put a (v') for the correct statement and a (x ) for the incorrect statement:

1. Soil is essential for photosynthesis. ( )
2. Some plant flowers have bright colors. ( )
3. Hawks obtain energy from plants indirectly. ( )
4. Producers are always present in any food chain. ( )

& From the fOOd Cham Shownmtheﬁgure’Comp[ete

, P is the primary consumer.
2. The secondary consumer organism is the ... «
3. A fox is prey for the lion and a predator for ...
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A) Fill in the blanks:

1. feed on plant.
2. feed on other living things.

B) Choose the correct answer:

1. All living things get energy from ...

a birds b plants
C insects d the sun
21 . AFE €Xamples of producer organisms.
a Birds b Plants
¢ Insects d Predators

3. When a person eats a meal of carnivorous fish, in this case they are considered

Al .
a producer b secondary consumer
C primary consumer d tertiary consumer

4, Organisms at the beginning of the food chain.
a feed on dead animals b make sugar
¢ feed on plants d decompose animals

5. The stem in most flowers is:
a purlin b climber
¢ straight vertical d wooden

6. Maple tree seeds have specially adapted seeds: what kind of seed dispersal
does it use?
a Transfer through wind
b Transfer by gravity

¢ Transfer through tertiary consumers

d Transfer through substitutive objects
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Answers

Elshater Evaluation

Question No. 1:

1. growth 2. leaves
3. climbing 4. blood vessels
5. plants 6. Mushrooms

7. the ecosystem is disturbed
8. strong

Question No. 2:

1. feeding on herbs.

2. feeding on the flesh of prey.

3. feeding on the remains of dead organisms.
4. feeding on animals and plants.

Question No. 3:

1. Root hairs 2. Tubers
3. Blood vessels

Question No. 4:

L X 2. v 3. X 4. v
5 6. X 8 8. X
Question No. 5:

1. Carbon dioxide 2. Light

3. Water 4. Oxygen
5. Sugar

Question No. 6:

1. Grass

2. Locust, spider, bird and hawk.

3. The direction of energy transfer between living
organisms.

Question No. 7:
1. needle 2. food production
3. Oxygen gas 4. air

5. the sun

food relationships between living organisms
7. Cockroaches
8. decompose parts of dead plants and animals
Question No. 8:
Glucose because it is a product of the photosynthesis
process.

Question No. 9:

1. prey 2. predator
October Test
Q1: A)

1. Carbon dioxide with water

2. growing plants in new areas

3. last 4. rabbit
B)

1. Photosynthesis process

2. Arteries

| 3. Decomposers

Q2: A)

1./ 2./ 3./ 4. v
B)

1. Rabbit

Q 3: A)

1. Primary consumers

2. fox 3. rabbit

2. Secondary consumers
B)

1. the sun

3. tertiary consumer

2. Plants

4. make sugar
5. straight vertical

6. Transfer through wind
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September exam

Science exam
Grade 5
Question 1 : put true or false
1- the growth of plant decrease in thedark ( )
2- the stem of tree is runner stem ( )
3- the plant get its own food through photosynthesis process ( )

4- the transport system in plant look like the circulatory system of
human ( )

5- the flowers is the organ which responsible for reproduction in the
plant ( )

Question 2 : choose

1- which of them transport blood to heart in human.........

( veins - arteries - pholem - xylem )

2- from the non - basic need of plant is...........

( sunlight - soil - water - co2)

3- the responsable for fixing plant in soil is..........

( stem - chlorophyll - root - seed )

b- .. transport water and nutrients from root to leaves
( pholem - xylem - flowers )

5- during photosynthesis process............ energy is converted into
chemical energy

(kinetic - light - chemical - mechanical )

Question 3 : complete

i transport the food from leaves to all parts of plant



3-the............... is the reproductive organ of the plant
4- the heart consist of ................. chamber
5- plant need ..................... Jererrrrrrrrrr————————————— and ......oeevvvviiiinn. to make

their own food

Question 4: correct the wrong word

1-leaves of the plants are responsible for absorption of water from the
soil

2-- pholem in the plant's leaves absorb energy of sunlight

3- the process through which plant make their own food is called
germination process

4- xylem in plant is two- way vessel



